ATV - TURF - GOLF - SLOW SPEED

=Specialty

CARLISLE w KENDA

LLLLL
PERCORMANCE TIRES
NMotTodpoRT o?
S
-
& =, 7rs

www.Specialtytire.ca _E




ATV Wheels

T-9 Alum.

SS106

55212

Reaper

Delta

SS108

SS312

Diesel

www.specialtytire.ca

C-7/100M

SS112

Nuke

Diesel - Army Green



ATV Wheels

Part Number Bolt Pattern Size Offset Brand Style Color Material
TTAWO015579 3/90mm 8 x7 3+4 ITP T-9 .190 Aluminium
TTAW089729 3/100mm 8 x6 2+4 ITP PLAIN Silver Steel
TTAWO014234 3/120mm 8 x6 3+3 ITP T-9 Aluminium
TTAW015609 3/120mm 10 x5 3LB +2 ITP T-9 .190 Aluminium
TTAW089740 4/100 & 130mm 8 x8.5 35+5 ITP T-9 Aluminium
TTAWO089737 4/100mm 8 x8 3+5 ITP PLAIN Aluminium
TTAW014107 4/140mm 10x8 3+5 ITP PLAIN Silver Steel
TTAW115084 4/144mm 10 x5 3+2 ITP T-9 Trac-Lock Black Aluminium
TTAW115059 4/144mm 10 x5 4B+ 1 ITP T-9 Baja Aluminium
TTAWO015786 4/144mm 12 x7 5+2 ITP C-6 Polished Aluminium
TTAW014231 5/130mm 8 x8.5 3LB+5.5 ITP T-9 Aluminium
TTAW014232 5/130mm 9x9 3LB +6 ITP T-9 Aluminium
TTAW089756 5/130mm 10 x8 3+5 ITP T-9 Aluminium
TTAW131936 5/130mm 10x10 5+5 ITP T-9 Aluminium
TTAWO014121 4/4 10 x8 3+5 ITP PLAIN Silver Steel
TTAW270421 4/4 12 x7 2+5 Black Rock 100M Aluminium
TTAW015518 4/4 12 x7 2+5 ITP DELTA Black Steel
TTAW014154 4/110 & 130mm 8 x8.5 35+5 ITP PLAIN Silver Steel
TTAW014161 4/110 & 130mm 9x9 3+6 ITP PLAIN Silver Steel
TTAW014120 4/110 & 130mm 10x8 3+5 ITP PLAIN Silver Steel
TTAW131921 4/110mm 9x9 3LB+6 ITP T-9 Aluminium
TTAWO014167 4/110mm 10 x5 2+3 ITP PLAIN Silver Steel
TTAW014160 4/110mm 11 x6 4+ 2 ITP MODULAR Silver Steel
TTAWO014131 4/110mm 11 x7 2+5 ITP MODULAR Silver Steel
TTAWO015517 4/110mm 12 x7 2+5 ITP DELTA Black Steel
TTAW015810 4/110mm 12 x7 2+5 ITP DELTA Silver Steel
TTAW270921 4/110mm 12 x7 2+5 Black Rock 100M Aluminium
TTAWO015551 4/110mm 12 x7 2+5 ITP C-7 Aluminium
TTAW019814 4/110mm 12 x7 2+5 ITP SS106 Aluminium
TTAW019722 4/110mm 12 x7 2+5 ITP SS108 Black Aluminium
TTAW019818 4/110mm 12 x7 2+5 ITP SS112M Machined Aluminium
TTAW215223 4/110mm 12 x7 2+5 ITP SS212 Black Aluminium
TTAW215405 4/110mm 12 x7 2+5 ITP SS312M Machined Aluminium
TTAW215217 4/110mm 12 x7 2+5 ITP SS212M Machined Aluminium
TTAWM602710 4/110mm 12 x7 4+3 MA M6/NUKE Aluminium
TTAWM902710 4/110mm 12 x7 4+ 3 MA M9/PATRIOT Aluminium
TTAWM1002710 4/110mm 12 x7 4+ 3 MA M10/REAPER FlatBlack Aluminium
TTAW015516 4/110mm 12 x7 5LB+2 ITP DELTA Black Steel
TTAW015807 4/110mm 12 x7 5LB+2 ITP DELTA Silver Steel
TTAW270943 4/110mm 12 x7 5+2 Black Rock 100M Aluminium
TTAW015408 4/110mm 12 x7 5LB+2 ITP C-5 Aluminium
TTAW019813 4/110mm 12 x7 5+2 ITP SS106 Aluminium
TTAW019714 4/110mm 12 x7 5+2 ITP SS108M Machined Aluminium
TTAW019721 4/110mm 12 x7 5+2 ITP SS108 Black Aluminium
TTAW019821 4/110mm 12 x7 5+2 ITP SS112 Chrome Aluminium
TTAW019817 4/110mm 12 x7 5+2 ITP SS112M Machined Aluminium
TTAW215216 4/110mm 12 x7 5+2 ITP SS212M Machined Aluminium
TTAW215222 4/110mm 12 x7 5+2 ITP SS212 Black Aluminium
TTAW215559 4/110mm 12 x7 5+2 ITP SS212 Platinum Aluminium
TTAW215404 4/110mm 12 x7 5+2 ITP SS312M Machined Aluminium
TTAW019828 4/110mm 12 x7 6+1 ITP SS106 Aluminium
TTAWM612710 4/110mm 12 x7 5+2 MA M6/NUKE Aluminium

www.specialtytire.ca



ATV Wheels

Part Number Bolt Pattern Size Offset Brand Style Color Material
TTAW019815 4/110mm 14 x6 4+2 ITP SS106 Aluminium
TTAW019819 4/110mm 14 x6 4 +2 ITP SS112M Machined Aluminium
TTAW215228 4/110mm 14 x6 4+2 ITP SS212M Machined Aluminium
TTAW215370 4/110mm 14 x6 4+ 2 ITP SS212M Machined Aluminium
TTAW215410 4/110mm 14 x6 4+ 2 ITP SS312M Machined Aluminium
TTAWO015775 4/110mm 14 x7 2+5 ITP Cc-7 Chrome Aluminium
TTAW015486 4/110mm 14 x7 2+5 ITP Cc-7 Machined Aluminium
TTAWO015762 4/110mm 14 x7 2+5 ITP Cc-7 Black Aluminium
TTAWM604710 4/110mm 14 x7 4+3 MA M6/NUKE Aluminium
TTAWM1004710 4/110mm 14 x7 4+3 MA M10/REAPER FlatBlack Aluminium
TTAWM1204710 4/110mm 14 x7 4+3 MA M12/DIESEL Black Aluminium
TTAWM1204710G 4/110mm 14 x7 4+3 MA M12/DIESEL Army Green Aluminium
TTAWM614710 4/110mm 14 x7 5+2 MA M6/NUKE Aluminium
TTAW019816 4/110mm 14 x8 3+5 ITP SS106 Aluminium
TTAW019824 4/110mm 14 x8 3+5 ITP SS112 Chrome Aluminium
TTAW019826 4/110mm 14 x8 5+3 ITP SS112M Machined Aluminium
TTAW215230 4/110mm 14 x8 5+3 ITP SS212M Machined Aluminium
TTAW215371 4/110mm 14 x8 5+3 ITP SS212M Machined Aluminium
TTAW215412 4/110mm 14 x8 5+3 ITP SS312M Machined Aluminium
TTAW215400 4/110mm 15x7 5+2 ITP SS212 Platinum Aluminium
TTAW014158 4/115 & 130mm 9x9 3+6 ITP PLAIN Silver Steel
TTAW115064 4/115mm 8 x8.5 3+5 ITP T-9 Baja Aluminium
TTAW089747 4/115mm 9x9 3LB+6 ITP T-9 Aluminium
TTAW115068 4/115mm 10x8 3+5 ITP T-9 Baja Aluminium
TTAW115057 4/115mm 10 x8 3+5 ITP T-9 GP Aluminium
TTAWM702715 4/115mm 12 x7 4+3 MA M7/TROOPER Aluminium
TTAW015801 4/115mm 12 x7 5LB+2 ITP DELTA Silver Steel
TTAW271543 4/115mm 12 x7 5+2 Black Rock 100M Aluminium
TTAWO015549 4/115mm 12 x7 5LB+2 ITP Cc-7 Aluminium
TTAW019720 4/115mm 12 x7 5+2 ITP SS108M Machined Aluminium
TTAW215221 4/115mm 12 x7 5+2 ITP SS212M Machined Aluminium
TTAW019830 4/115mm 14 x6 4+ 2 ITP SS106 Aluminium
TTAW019832 4/115mm 14 x6 4+2 ITP SS112M Machined Aluminium
TTAW215415 4/115mm 14 x6 4 +2 ITP SS312M Machined Aluminium
TTAW015484 4/115mm 14 x7 5LB+2 ITP Cc-7 Machined Aluminium
TTAW019833 4/115mm 14 x8 5+3 ITP SS112M Machined Aluminium
TTAW014114 4/137mm 10x8 3+5 ITP PLAIN Silver Steel
TTAW115069 4/137mm 10 x8 3+5 ITP T-9 Baja Aluminium
TTAWO015553 4/137mm 12 x7 2+5 ITP C-7 Aluminium
TTAW019837 4/137mm 12 x7 2+5 ITP SS106 Aluminium
TTAW015819 4/137mm 12 x7 3+4 ITP DELTA Silver Steel
TTAWO015519 4/137mm 12 x7 4LB + 3 ITP DELTA Black Steel
TTAWM602737 4/137mm 12 x7 4+3 MA M6/NUKE Aluminium
TTAWO015282 4/137mm 12 x7 4LB + 3 ITP c-4 Aluminium
TTAWO015552 4/137mm 12 x7 4LB + 3 ITP Cc-7 Aluminium
TTAW273643 4/137mm 12 x7 5+2 Black Rock 100M Aluminium
TTAW215225 4/137mm 12 x7 5+2 ITP SS212 Black Aluminium
TTAW215562 4/137mm 12 x7 5+2 ITP SS212 Platinum Aluminium
TTAW215407 4/137mm 12 x7 5+2 ITP SS312M Machined Aluminium
TTAW115146 4/137mm 14 x6 4 +2 ITP SS112M Machined Aluminium
TTAW215235 4/137mm 14 X6 4 +2 ITP SS212M Machined Aluminium
TTAW215246 4/137mm 14 x6 4+2 ITP SS212 Black Aluminium

www.specialtytire.ca




ATV Wheels

Part Number Bolt Pattern Size Offset Brand Style Color Material
TTAW015488 4/137mm 14 x7 3+4 ITP Cc-7 Machined Aluminium
TTAWM604737 4/137mm 14 x7 4+3 MA M6/NUKE Aluminium
TTAWM1004737 4/137mm 14 x7 4+ 3 MA M10/REAPER FlatBlack Aluminium
TTAWM1204737 4/137mm 14 x7 4+3 MA M12/DIESEL Black Aluminium
TTAWM1204737G 4/137mm 14 x7 4+3 MA M12/DIESEL Army Green Aluminium
TTAW019838 4/137mm 14 x8 3+5 ITP SS106 Aluminium
TTAW115147 4/137mm 14 x8 5+3 ITP SS112M Machined Aluminium
TTAW215247 4/137mm 14 x8 5+3 ITP SS212 Black Aluminium
TTAW215236 4/137mm 14 x8 5+3 ITP SS212M Machined Aluminium
TTAW014166 4/156mm 10 x5 2+3 ITP PLAIN Silver Steel
TTAW115049 4/156mm 10 x5 3+2 ITP T-9 GP Aluminium
TTAW014171 4/156mm 10x8 3+5 ITP PLAIN Silver Steel
TTAW115070 4/156mm 10 x8 3+5 ITP T-9 Baja Aluminium
TTAW131939 4/156mm 10 x10 5+5 ITP T-9 Aluminium
TTAW015521 4/156mm 12 x7 4B + 3 ITP DELTA Black Steel
TTAW015825 4/156mm 12 x7 4LB + 3 ITP DELTA Silver Steel
TTAW274643 4/156mm 12 x7 4+3 Black Rock 100M Aluminium
TTAW015414 4/156mm 12 x7 4LB + 3 ITP C-5 Machined Aluminium
TTAW015421 4/156mm 12 x7 41LB + 3 ITP C-6 Polished Aluminium
TTAW019840 4/156mm 12 x7 4+3 ITP SS106 Aluminium
TTAW019723 4/156mm 12 x7 4+3 ITP SS108 Black Aluminium
TTAW019716 4/156mm 12 x7 4+3 ITP SS108M Machined Aluminium
TTAW215218 4/156mm 12 x7 4+3 ITP SS212M Machined Aluminium
TTAW215561 4/156mm 12 x7 4+3 ITP SS212 Platinum  Aluminium
TTAW215406 4/156mm 12 x7 4+3 ITP SS312M Machined Aluminium
TTAWM602756 4/156mm 12 x7 4+3 MA M6/NUKE Aluminium
TTAWM9O02756 4/156mm 12 x7 4+3 MA MO/PATRIOT Aluminium
TTAW019841 4/156mm 14 x6 4+2 ITP SS106 Aluminium
TTAW215231 4/156mm 14 x6 4+ 2 ITP SS212M Machined Aluminium
TTAWM604756 4/156mm 14 x7 4+3 MA M6/NUKE Aluminium
TTAWM1004756 4/156mm 14 x7 4+ 3 MA M10/REAPER FlatBlack Aluminium
TTAWM1204756 4/156mm 14 x7 4+3 MA M12/DIESEL Black Aluminium
TTAWM1204756G 4/156mm 14 x7 4+3 MA M12/DIESEL Army Green Aluminium
TTAWM614756 4/156mm 14 x7 2+5 MA M6/NUKE Aluminium
TTAW215232 4/156mm 14 x8 5+3 ITP SS212M Machined Aluminium
Spacer Kits

Part Number

Description

TTAS059029
TTAS059031
TTAS059032
TTAS059033
TTAS201190
TTAS201196

Pair/Spacer Kit for 4/110mm, 1" Thick Alum, 4 Studs & Nuts
Pair/Spacer Kit for 4 on 4", 1" Thick Alum, 4 Studs & Nuts
Pair/Spacer Kit for 4/137mm, 1" Thick Alum, 4 Studs & Nuts
Pair/Spacer Kit for 4/156mm, 1" Thick Alum, 4 Studs & Nuts
Pair/Spacer Kit for 4/110mm,1.5"Thick Alum, 4 Studs & Nuts
Pair/Spacer Kit for 4/156mm, 1.5" Thick Alum + Hardware

www.specialtytire.ca



ATV Wheel Parts

|Part Number

Description

Center Caps

TTAC013440 Chrome Steel Center Cap 4/110 Fits 12" Delta Wheels (SM1212)
TTAC015483 Black Steel Center Cap 4/110,4/115 Fits C-4,5,6 & 7 Wheels (SM1212B)
TTAC013421 Black Center Cap for 4/110mm STEEL DELTAWHEELS (SM130B)
TTAC013422 Chrome Center Cap for 4/110mm STEEL DELTAWHEELS (SM1300)
TTAC019843 Chrome Center Cap for 4/110/115mm ITP SS ALLOY WHEELS
TTAC215573 Black Center Cap for 4/110/115mm ITP SS ALLOY & SPORT WHEELS
TTAC019844 Chrome Center Cap for 4/137mm ITP SS ALLOY WHEELS
TTAC019845 Chrome Center Cap for 4/156mm ITP SS ALLOY WHEELS
TTAC215556 Center Cap for 4/110mm ITP SS312 & SYSTEM SIXWHEELS
TTAC215557 Center Cap for 4/137mm ITP SS312 & SYSTEM SIXWHEELS
TTAC215558 Center Cap for 4/156mm ITP SS312 & SYSTEM SIXWHEELS
TTAC015699 (Box/4) Chrome Center Cap 4/110,115 Fits C-4 Wheels (SM1212H)
TTAC015559 (Box/4) Chrome Caps For4/115 & 110mm Type-5,6,7 Wheels (P110BX)
TTAC015400 (Box/4) Chrome Caps For 4/137 Type-5,6,7 Wheels (P137BX)
TTAC015694 (Box/4) Grey Center Cap 4/137 Fits C-4,5,6 & 7 Wheels (G137BX)
TTAC015698 (Box/4) CHROME Caps For 4/156mm Type-5,6,7 Wheels (P156BX)
TTAC015689 (Box/4) BLACK Caps For 4/156mm Type-5,6,7 Wheels (B156BX)
TTAC015695 (Box/4) Grey Center Cap 4/156 Fits C-4,5,6 & 7 Wheels (G156BX)
Lug Nuts

TTANO15403 (16/Box) 3/8"Tapered Chrome Lug Nuts (Type 5,6,7 & SS106)
TTANO15401 (16/Box)10mm Flat Base Chrm Lug Nut 17mm Head (Type 7,SS106)
TTANO19748 (16/Box) 10mm Flat Base Chrome Lug Nuts 14mm Head (SS106,108)
TTANO15696 (16/Box) 10mm Tapered Chrome Lug Nuts (Type 7, SS106-108-112)
TTANO19906 (16/Box) 10mm x 1.5 - 60deg. Tapered Chrome Lug Nuts
TTANO19904 (16/Box) 12mm Flat Base Chrome Lug Nuts 17mm Head
TTAN115197 (16/Box) 12mm x 1.50 Tapered Chrome Lug Nuts

ATV Tracks
Part Number Description
TTAT375001 Commander TREK Universal ATV Track Kit
TTATADKIT Commander ADAPTER KIT
TTATTATOU 4S8 Camoplast TATOU 4S 4 Season ATV Track Kit

Note: Tatou Tracks are custom ordered from factory
to fit each machine.

www.specialtytire.ca




B

SPORT TIRES

FRONT MAX K284

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA200708 FM IK 20x7-8 2 20.6" 7.2" 1951b 8 x5.5 N/A
TTA210809 FM IK 21x8-9 2 20.7" 6.9" 225Ib 9 x5 N/A
TTA210710 FM IK 21 x7-10 2 20.7" 6.9" 205Ib 10 x5 N/A
TTA220810 FM IK 22x8-10 2 21.0" 6.9" 240Ib 10 x5 N/A
TTA230811 FMIK 23.5x8-11 2 234" 7.5" 255Ib 11 x6 N/A
HOLESHOT
Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA220710 HSH Al 22 x7-10 6 N/A N/A N/A N/A N/A
TTA201109 HSH Al 20x11-9 6 N/A N/A N/A N/A N/A
TTA201109 HS Al 20x11-9 4 N/A N/A N/A N/A N/A
TTA201110 HSXAI 20x11-10 6 N/A N/A N/A N/A N/A
TRAIL WOLF SPORT
Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA210710 TWS A 21x7-10 6 20.9" 6.7" 300Ib 10 x8 N/A
TTA220710 TWS A 22 x7-10 6 21.8" 71" 2551b 10 x6 N/A
TTA201009 TWS A 20x10-9 6 19.6" 10.8" 235lb 9 x9 N/A
RAZR SPORT M931/M932
Ply  Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA210710 RAS IM 21x7-10 4 21.4" 7.00" N/A N/A 7/16"
TTA201109 RAS IM 20x11-9 4 20.0" 11.10" N/A N/A 7/16"
TTA221109 RA2 IM 22x11-9 6 N/A N/A N/A N/A 5/8"
MUDLITE SP
Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA220710 MLS Al 22x7-10 6 22.01" 6.97" 255Ib 10 x5.5 1/2"
TTA201109 MLS Al 20x11-9 6 20.0" 11.06" 340lb 9x9 5/8"
MUDLITE AT
Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA221109 MLA Al 22x11-9 6 22.01" 11.06" 395Ib 9x9 3/4"
TTA251209 MLA Al 25x12-9 6 25.0" 11.92" 4951b 9x9.5 3/4"
TTA220810 MLA Al 22x8-10 6 22.0" 8.03" 275Ib 10 x6.5 3/4"
TTA221110 MLA Al 22x11-10 6 22.01" 11.06" 385Ib 10 x9 3/4"
TTA230810 MLA Al 23 x8-10 6 23.0" 8.03" 300Ib 10 x6.5 3/4"
TTA231010 MLA Al 23x10-10 6 N/A N/A N/A N/A 3/4"
TTA241110 MLA Al 24 x11-10 6 24 30" 11.06" 4401b 10 x9 3/4"
TTA251110 MLA Al 25x11-10 6 N/A N/A N/A N/A 3/4"
TTA271210 MLA Al 27 x12-10 6 27.01" 11.97" 5501b 12x9.5 1-1/16"
TTA240811 MLAAI 24 x8 - 11 6 N/A N/A N/A N/A 3/4"
TTA240911 MLAAI 24 x9 - 11 6 N/A N/A N/A N/A 3/4"
TTA241011 MLAAI 24 x10 - 11 6 N/A N/A N/A N/A 3/4"
TTA250811 MLA Al 25x8-11 6 25.0" 8.0" 355Ib 11 x6.5 3/4"
TTA251011 MLA Al 25x10 - 11 6 25.0" 10.0" 4201b 11 x8 3/4"
TTA240812 MLA Al 24 x8-12 6 24 25" 8.03" 310lb 12 x6.5 3/4"

www.specialtytire.ca



BEAR CLAW K299

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA221208 BC IK 22x12-8 6 21.3" 11.5" 430Ib 8x10 20mm
TTA221209 BC IK 22x12-9 6 221" 10.9" 4301b 9x9 20mm
TTA251209 BC IK 25x12.50-9 6 24 6" 11.2" 495Ib 9x9 20mm
TTA220810 BC IK 22x8-10 6 21.5" 81" 275lb 10 x5 15mm
TTA221210 BC IK 22x12-10 6 211" 11.3" 430Ib 10x10 15mm
TTA231010 BC IK 23x10-10 6 N/A N/A N/A N/A 15mm
TTA251210 BC IK 25x12.50-10 6 24 2" 11.8" 495Ib 10x10 15mm
TTA230811 BC IK 23 x8-11 6 22.8" 7.6" 290Ib 11 x6 15mm
TTA240911 BC IK 24 x9 - 11 6 23.7" 8.5" 365Ib 11 x6 15mm
TTA251011 BC IK 25x10-11 6 24 4" 9.4" 420lb 11 x7 15mm
TTA251211 BC IK 25x12.50- 11 6 24 4" 10.8" 495Ib 11 x7.5 20mm
TTA240812 BC IK 24 x8-12 6 23.3" 7.5" 310lb 12 x6 15mm
TTA250812 BC IK 25x8-12 6 24 3" 8.3" 340Ib 12 x7 15mm
TTA251012 BC IK 25x10-12 6 245" 9.3" 420Ib 12x85 15mm
TTA251212 BC IK 25x12.50-12 6 252" 11.8" 495lb 12x10.5 20mm
TTA260912 BC IK 26 X9-12 6 25.0" 8.9" 420Ib 12 x7 15mm
TTA261212 BC IK 26 x12-12 6 252" 11.8" 495lb 12x10.5 20mm
TTA271012 BC IK 27 x10-12 6 25.5" 9.7" 420Ib 12x85 20mm
TTA271212 BC IK 27 x12-12 6 25.8" 11.3" 495lb 12x10.5 20mm

MUD WOLF

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250812 MW A 25x8-12 6 25.0" 8.3" 3401b 12x6.5 1-1/8"
TTA251112 MW A 25x11-12 6 25.0" 11.6" 4551b 12 x9 1-1/8"
TTA260912 MW A 26 X9-12 6 26.0" 9.2" 410lb 12 x7 1-1/8"
TTA261212 MW A 26 x12-12 6 26.0" 11.5" 5201b 12 x8 1-1/8"
TTA270912 MW A 27 x9-12 6 27.0" 9.0" 4401b 12 x7 1-1/8"
TTA271212 MW A 27 x12-12 6 27.0" 12.0" 550Ib 12x95 1-1/8"
TTA260914 MW A 26 X9-14 6 26.55" 8.05" 395Ib 14 x7 1-1/8"
TTA261114 MW A 26 x11-14 6 26.91" 10.05" 4651b 14 x8 1-1/8"

EXECUTIONER K538

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250812 EXIK 25x8-12 6 24 .8" 8.3" 3401lb 12 x7 22mm
TTA251012 EXIK 25x10-12 6 248" 9.3" 4201b 12 x7 27mm
TTA261012 EXIK 26 X10-12 6 25.6" 9.4" 4401b 12 x7 27mm
TTA261212 EXIK 26 x12-12 6 26" 11.2" 495|b 12 x7 27mm
TTA271012 EXIK 27 x10-12 6 26.6" 9.4" 4651b 12 x7 30mm
TTA271212 EXIK 27 x12-12 6 26.5" 11.5" 550Ib 12 x7 30mm

MOTO MAX

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA261012 MM IE 26 x10-12 6 26" 9" 4401b 12 x7 1"
TTA261212 MM IE 26x12-12 6 26" 11" 520Ib 12 x7 1"
TTA271012 MM IE 27x10-12 6 27" 9" 4651b 12 x7 1"
TTA271212 MM IE 27 x12-12 6 27" 11 550Ib 12 x7 1"
TTA271014 MM IE 27 x10-14 6 27" 9" 7501b 14 x7 1"
TTA271214 MM IE 27 x12-14 6 27" 11" 750Ib 14 x7 1"

www.specialtytire.ca




MUDLITE XL & XXL

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250812 ML Al 25x8-12 6 25.0" 8.03" 340Ib 12x6.5 1-1/8"
TTA251012 ML Al 25x10-12 6 25.0" 10.0" 4201b 12 x8 1-1/8"
TTA251212 ML Al 25x12-12 6 25.0" 11.80" 495I1b 12x95 1-1/8"
TTA260912 ML Al 26 X9-12 6 25.98" 8.94" 768Ib 12 x7 1-1/8"
TTA261012 ML Al 26 X10-12 6 26.0" 9.50" 9061b 12 x8 1-1/8"
TTA261212 ML Al 26 x12-12 6 26.25" 11.50" 1002Ib 12x95 1-1/8"
TTA270912 ML Al 27 x9-12 6 27.01" 8.94" 440Ib 12 x7 1-1/8"
TTA271012 ML Al 27 x10-12 6 27.0" 9.50" 4651b 12 x8 1-1/8"
TTA271212 ML Al 27 x12-12 6 27.25" 11.50" 5501b 12x95 1-1/8"
TTA281012 ML Al 28x10-12 6 28.0" 9.80" 4951b 12 x8 1-1/8"
TTA281212 ML Al 28x12-12 6 28.25" 11.20" 565lb 12x95 1-1/8"
TTA301012 ML Al 30x10-12 6 30.0" 10.0" 550Ib 12 x8 1.3"
TTA301212 ML Al 30x12-12 6 30.50" 12.0" 6601b 12x9.5 1.3"
TTA271014 ML Al 27 x10-14 6 27.0" 10.0" 9361b 14 x8 1-1/8"
TTA271214 ML Al 27 x12-14 6 27.25" 12.0" 1128lb 14x95 1-1/8"
TTA281014 ML Al 28x10-14 6 27.50" 10.0" 9961b 14 x8 1-1/8"
TTA281214 ML Al 28x12-14 6 27.25" 11.80" 11941b 14 x95 1-1/8"
TTA301014 ML Al 30x10-14 6 N/A N/A N/A 14 x8 1.3"
TTA301214 ML Al 30x12-14 6 N/A N/A N/A 14 x8 1.3"
589 M/S
Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width  Capacity Required Depth
TTA251210 589 A 25x12-10 6 N/A N/A N/A N/A 1"
TTA261210 589 AT 26x12-10 6 N/A N/A N/A N/A 1"
TTA250812 589 AT 25x8-12 6 25.40" 8.0" N/A 12x7 1"
TTA251012 589 AT 25x10-12 6 25.40" 10.0" 420lb 12x8 1"
TTA260912 589 AT 26 x9-12 6 26.0" 9.0" 410Ib 12x7 1-1/8"
TTA261212 589 AT 26x12-12 6 25.98" 11.60" 5201b 12x9.5 1-1/8"
TTA270912 589 AT 27 x9-12 6 27.0" 8.94" 440lb 12x7 1-1/8"
TTA271112 589 AT 27 x11-12 6 27.01" 11.06" 495|b 12x9 1-1/8"
TTA280912 589 AT 28x9-12 6 27.80" 9.0" 440lb 12x7 1-1/8"
TTA281112 589 AT 28 x11-12 6 27.80" 10.90" 495|b 12x9 1-1/8"
—
MUD BUG M961/M962
Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width  Capacity Required Depth
TTA251011 MB IM 25x10-11 6 25.2" 9.10" N/A N/A 1.2"
TTA250812 MB IM 25x8-12 6 25.2" 8.30" N/A N/A 1.2"
TTA251012 MB IM 25x10-12 6 25.2" 9.20" N/A N/A 1.2"
TTA261012 MB IM 26 X10-12 6 26.0" 9.10" N/A N/A 1.2"
TTA261212 MB IM 26 x12-12 6 26.2" 11.30" N/A N/A 1.2"
TTA271012 MB IM 27 x10-12 6 27.0" 9.30" N/A N/A 1.2"
TTA271212 MB IM 27 x12-12 6 27.0" 9.80" N/A N/A 1.2"
TTA281012 MB IM 28x10-12 6 28.2" 9.50" N/A N/A 1.2"
TTA281212 MB IM 28x12-12 6 28.2" 11.50" N/A N/A 1.2"

www.specialtytire.ca



BLACK ROCK

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250812 BR A 25x8-12 6 25" 8" 340lb 12x6.5 N/A
TTA251012 BR A 25x10-12 6 25.25" 10" 420Ib 12 x8 N/A
TTA260912 BR A 26 x9-12 6 26" 9" 410lb 12 x7 N/A
TTA261112 BR A 26 x11-12 6 26.25" 111" 480Ib 12 x9 N/A

'ZILLA MU01/MUO02

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250812 ZI IM 25x8-12 6 254" 7.50" N/A N/A 1.2"
TTA251012 ZI IM 25x10-12 6 254" 9.80" N/A N/A 1.2"
TTA260912 ZI IM 26 X9-12 6 26.0" 8.70" N/A N/A 1-3/16"
TTA261112 ZI IM 26 x11-12 6 26.0" 10.30" N/A N/A 1-3/16"
TTA270912 ZI IM 27 x9-12 6 27" 8.7" N/A N/A 1-3/16"
TTA271112 ZI IM 27 x11-12 6 27" 104" N/A N/A 1-3/16"
TTA281012 ZI IM 28 x10-12 6 28" 9.3" N/A N/A 1-3/16"
TTA271014 ZI IM 27 x10-14 6 27" 9.3" N/A N/A 1-3/16"
TTA280914 ZI IM 28 x9-14 6 28" 8.7" N/A N/A 1-3/16"
TTA281114 ZI IM 28x11-14 6 28" 8.7" N/A N/A 1-3/16"
TTA300914 ZI IM 30x9-14 6 30.2" 8.5" N/A N/A 1-3/16"
TTA301114 ZI IM 30x11-14 6 30" 10.5" N/A N/A 1-3/16"

MUDZILLA M966

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA260912 MZ IM 26 X9-12 6 26.4" 9.00" N/A N/A 1.3"
TTA261212 MZ IM 26 x12-12 6 26.4" 11.0" N/A N/A 1.3"
TTA270912 MZ IM 27 x9-12 6 27 4" 9.00" N/A N/A 1.4"
TTA271212 MZ IM 27 x12-12 6 27 4" 11.0" N/A N/A 1.4"
TTA281012 MZ IM 28 x10-12 6 28.0" 9.80" N/A N/A 1.5"
TTA281212 MZ IM 28 x12-12 6 28.0" 10.80" N/A N/A 1.5"

www.specialtytire.ca




HIGHLIFTER OUTLAW

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA259512 OU IH 25x9.50-12 6 N/A N/A N/A N/A 1-1/4"
TTA251212 OU IH 25x12-12 6 N/A N/A N/A N/A 1-1/4"
TTA261012 OU IH 26 X10-12 6 N/A N/A N/A N/A 1-1/4"
TTA261212 OU IH 26 x12-12 6 N/A N/A N/A N/A 1-1/4"
TTA279512 OU IH 27 x9.50-12 6 N/A N/A N/A N/A 1-1/4"
TTA271212 OU IH 27 x12-12 6 N/A N/A N/A N/A 1-1/4"
TTA289512 OU IH 28 x9.50-12 6 N/A N/A N/A N/A 1-1/4"
TTA281012 OU IH 28x10.50-12 6 N/A N/A N/A N/A 1-1/4"
TTA281212 OU IH 28x12.50-12 6 N/A N/A N/A N/A 1-1/4"
TTA291012 OU IH 29.5x10-12 6 N/A N/A N/A N/A 1-1/4"
TTA291212 OU IH 29.5x12-12 6 N/A N/A N/A N/A 1-1/4"
TTA311114 OU IH 31 x11-14 6 N/A N/A N/A N/A 1-1/4"
TTA319514 OU IH 31x9.50-14 6 N/A N/A N/A N/A 1-1/4"

SILVERBACK

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA271012 SI AG 27 x10-12 6 N/A N/A N/A 12 x7 1.5"
TTA271212 SI AG 27 x12-12 6 N/A N/A N/A 12 x7 1.5"
TTA281012 SI AG 28 x10-12 6 N/A N/A N/A 12 x7 1.75"
TTA281212 SI AG 28 x12-12 6 N/A N/A N/A 12 x7 1.75"
TTA301012 SI AG 30x10-12 6 N/A N/A N/A 12 x7 2"
TTA300914 SI AG 30x9-14 6 N/A N/A N/A 14 x7 2"
TTA301114 SI AG 30x11-14 6 N/A N/A N/A 14 x7 2"
TTA321014 SI AG 32x10-14 6 N/A N/A N/A 14 x7 2.5"

MOTO MONSTER

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA301014 MMO IE 30x10-14 6 30" 10" N/A 14 X7 2"

www.specialtytire.ca

-10-



UTV / ATV TIRES

MOTO 350

Ply  Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250812 M35 IE 25x8-12 6 25" 8" 340lb 12 x7 3/4"
TTA251012 M35 IE 25x10-12 6 25" 10" 4201b 12 x7 3/4"
TTA261012 M35 IE 26 x10-12 6 26" 10" 4401b 12 x7 3/4"
TTA261212 M35 IE 26 x12-12 6 26" 12" 520lb 12 x7 3/4"

ULTRACROSS

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA261015 UC Al 26 x10R 15 6 N/A N/A N/A N/A N/A

HOLESHOT SXS

Ply  Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250912 HSS Al 25x9-12 6 N/A N/A N/A 12 x7 N/A
TTA251112 HSS Al 25x11-12 6 N/A N/A N/A 12 x7 N/A

BAJACROSS

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250812 BAC Al 25 x8R 12 8 N/A N/A N/A 12 x7 N/A
TTA251012 BAC Al 25x10R 12 8 N/A N/A N/A 12 x7 N/A
TTA260912 BAC Al 26 x9R 12 8 N/A N/A N/A 12 x7 N/A
TTA261112 BAC Al 26 x11R 12 8 N/A N/A N/A 12 x7 N/A
TTA261014 BAC Al 26 x10R 14 8 N/A N/A N/A 14 x7 N/A
TTA261114 BAC Al 26 x11R 14 8 N/A N/A N/A 14 x7 N/A

TERRACROSS R/T

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250812 TC Al 25x8R 12 6 N/A N/A N/A 12 x7 3/4"
TTA251012 TC Al 25x10R 12 6 N/A N/A N/A 12 x7 3/4"
TTA260912 TC Al 26 x9R 12 6 26.25" 8.7" 768Ib 12 x7 3/4"
TTA261112 TC Al 26 x11 R 12 6 26.50" 10.90" 954Ib 12 x7 7/8"

-11-

www.specialtytire.ca




UTV / ATV TIRES

MOTO MTC

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA260914 MMT IE 26 x9-14 6 26.25" 9" 410lb 14 x7 1-1/4"
TTA261114 MMT IE 26 x11-14 6 26.25" 11" 480Ib 14 x7 1-1/4"

MUDLITE XTR

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA260912 MLX Al 26 x9 R 12 6 26.50" 9.0" 4401b 12 x7 1-1/8"
TTA261112 MLXAI 26 x11R12 6 26.75" 10.80" 4951b 12 x9 1-1/8"
TTA270912 MLX Al 27x9R12 6 27.50" 9.0" 4401b 12 x7 1-1/8"
TTA271112 MLX Al 27 x11 R 12 6 27.75" 10.80" 4951b 12 x9 1-1/8"
TTA270914 MLX Al 27x9R 14 6 27.50" 8.60" 1134Ib 14 x7 1-1/8"
TTA271114 MLX Al 27 x11 R 14 6 27.75" 10.80" 1020Ib 14 x9 1-1/8"

AT489

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA220710 489 A 22 x7-10 3 Star 22.2" 7.0" 255Ib 10 x6 5/8"
TTA221010489 A 22x10-10 3 Star 21.7" 9.9" 3551b 10x8 5/8"
TTA221110489 A 22x11-10 4 22.2" 10.6" 330lb 10 x9 5/8"
TTA230710 489 A 23 x7-10 2 Star 22.7" 6.5" 2401b 10 x5.5 5/8"
TTA230810 489 A 23x8-10 3 Star 23.2" 7.9" 300lb 10x6.5  5/8"
TTA231010489 A 23x10-10 3 Star 23.4" 9.5" 375lb 10x8 5/8"
TTA249510 489 A 24 x9.50-10 3 Star 24" 9.50" 1410lb 10x7.75 5/8"
TTA241110489 A 24 x11-10 3 Star 24.0" 9.7" 4401b 10 x9 5/8"
TTA241210 489 A 24 x12-10 3 Star 24.50" 12" 1740lb 10x9.5 5/8"
TTA251110489 A 25x11-10 3 Star 251" 10.6" 455|b 10 x9 5/8"
TTA230811 489 A 23 x8-11 3 Star 23.7" 7.5" 290Ib 11 x6.5 5/8"
TTA240811 489 A 24 x8 - 11 3 Star 24.5" 8.4" 3201b 11 x6.5 5/8"
TTA240911 489 A 24 x9 - 11 3 Star 24.5" 8.6" 3651b 11 x7 5/8"
TTA241011 489 A 24 x10 - 11 3 Star 24 4" 9.6" 3951b 11 x8 5/8"
TTA220712 489 A 22 x7-12 3 Star 22.4" 6.7" 2401b 12 x6 5/8"
TTA221012 489 A 22x10-12 3 Star 22.3" 9.3" 3401b 12 x8 5/8"
TTA230812 489 A 23 x8-12 3 Star 23.1" 7.4" 280lb 12 x6.5 5/8"
TTA231012 489 A 23x10-12 3 Star 23.1" 9.0" 3651b 12 x8 5/8"
TTA240812 489 A 24 x8-12 3 Star 23.8" 8.0" 455Ib 12 x6.5 5/8"
TTA240912 489 A 24 x9-12 2 Star 23.8" 8.9" 2651b 12 x8 5/8"
TTA241112 489 A 24 x11-12 3 Star 24 4" 10.1" 430Ib 12 x9 5/8"
TTA250812 489 A 25x8-12 3 Star 25.2" 7.5" 3401b 12x6.5 5/8"
TTA251012 489 A 25x10-12 3 Star 25.2" 9.1" 4201b 12x8 5/8"
TTA251112 489 A 25x11-12 4 254" 10.6" 4551b 12 x8 5/8"
TTA261012 489 A 26 X10-12 2 Star 25.7" 9.8" 385lb 12 x8 5/8"

www.specialtytire.ca

-12-



FAST TRAX

Ply  Mounted Mounted

Load

Wheel

Tread

Part Number Size Rating Diameter Width Capacity Required Depth
TTA181110 FTR A 18 x11-10 4 17.7" 9.7" 1120lb  10x8.5 N/A
ALL TRAIL /ALL TRAIL Il

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA201008 AT A 20x10-8 4 20.2" 9.3" 1190Ib 8 x7 5/8"
TTA221008 AT A 22x10-8 4 22.0" 101" 1350Ib 8 x7 5/8"
TTA201010 ATA 20x10-10 4 201" 8.9" 1160Ib 10 x6 5/8"
TTA229510 AT A 22 x9.50-10 4 22.0" 9.5" 1280lb 10x7.75 5/8"
TTA221110 AT A 22x11-10 4 21.9" 10.2" 1475Ib 10 x8 5/8"
TTA249510 AT A 24 x9.50-10 4 240" 9.7" 1410lb 10x7.5 5/8"
TTA241510 AT A 24 x10.50-10 4 24 .5" 10.8" 14901b 10 x8 5/8"
TTA230812 AT A 23x8-12 4 23.2" 8.4" 1125lb 12 x6.5 12"
TTA231012 AT A 23x10.50-12 4 23.1" 9.9" 13401lb 12 x7 12"
TTA250812 AT A 25x8-12 4 25.0" 8.3" 1305Ib 12 x7 1/2"
TTA251012 ATA 25x10.50-12 4 24.7" 10.2" 15701Ib 12 x7 1/2"

TRAIL WOLF

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA190808 TW A 19x8-8 2 19.0" 71" 200Ib 8 x6 5/8"
TTA200708 TW A 20x7 -8 2 194" 6.8" 157lb 8 x5.375 5/8"
TTA201108 TW A 20x11-8 4 20.2" 10.5" 340lb 8 x9 5/8"
TTA221009 TW A 22x10-9 4 21.8" 10.0" 355Ib 9x9 5/8"
TTA251209 TW A 25x12-9 4 25.6" 12.3" 430Ib 9x10 5/8"
TTA201110 TWA 20x11-10 3 Star 19.9" 11.9" 280Ib 10 x10 5/8"
TTA220710 TW A 22 x7-10 2 221" 6.8" 180Ib 10 x5.5 5/8"
TTA221010 TW A 22 x10-10 2 23.5" 9.2" 245Ib 10 x8 5/8"
TTA251210 TW A 25x12-10 4 253" 11.6" 430Ib 10 x10 5/8"
TTA230811 TWA 23 x8-11 4 231" 7.6" 255Ib 11 x6.38 5/8"
TTA240911 TWA 24 x9-11 4 24 4" 8.5" 316lb 11 x7 5/8"
TTA250812 TW A 25x8-12 2 25.3" 7.5" 340Ib 12 x6.5 5/8"
TTA251012 TWA 25x10-12 2 255" 9.0" 340Ib 12 x8 5/8"

HD FIELD TRAX

Ply Mounted Mounted Load Wheel Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA221208 FT A 22x12-8 3 Star 21.3" 11.7" 4301b 8x9.5 5/8"
TTA221008 FT A 225x10-8 3 Star 22.5" 10.2" 365Ib 8 x7 5/8"
TTA251309 FT A 25x13-9 3 Star 24 8" 12.4" 535lb 8x10.5 5/8"
TTA188510 FT A 18 x8.50-10 4 18.2" 74" 830Ib 10x7 5/8"
TTA241212 FTA 24 x12-12 2 24.0" 11.6" 1135lb 12x9.5 5/8"
TTA261212 FT A 26 x12-12 2 25.6" 11.8" 1185lb 12x9.5 5/8"

-13-

www.specialtytire.ca




TUNDRACROSS

Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA250912 TU Al 25x9-12 6 N/A N/A N/A 12 x7 N/A
TTA251012 TU Al 25x10-12 6 N/A N/A N/A 12 x7 N/A
SCORPION K290
Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA147006 SC IK 145/70-6 2 14.3" 53" 165Ib 6 x4.5 N/A
TTA189508 SC IK 18 x9.50-8 2 18.6" 8.8" 225Ib 8 x7 N/A
TTA221108 SC IK 22x11-8 2 22.0" 9.8" 3401b 8 x9 N/A
TTA251209 SC IK 25x12-9 2 24.0" 10.8" 4301b 9x9 N/A
KNOBBY
Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA147006 KB A 145/70-6 2 14.3" 53" 80Ib 6 x4.5 N/A
TTA189508 DK A 18 x9.50 -8 2 18.3" 8.8" 625Ib 8 x7 N/A
TTA221108 KB A 22x11-8 2 22.3" 10.5" 4951b 8x9 N/A
TTA251209 KB A 25x12-9 2 24.6" 11.8" 4301b 9x10 N/A
TURF TAMER
Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA221008 TT4 A 225x10-8 4 22.8" 9.2" 13901b 8x8 N/A
TTA251209 TT A 25x12-9 3 Star 25.3" 11.2" 4951b 9x9.5 N/A
TTA201110 TTA 20x11-10 3 Star 20.0" 10.7" 330lb 10 x9 N/A
STRYKER
Ply Mounted Mounted Load Wheel  Tread
Part Number Size Rating Diameter Width Capacity Required Depth
TTA221108 ST A 22x11-8 Belted 22.6" 111" 340lb 8x9 N/A
TTA221109 ST A 22 x11-9 Belted 22.6" 11.2" 3401lb 9x10 N/A
TTA251209 ST A 25x12-9 Belted 252" 12.2" 4301b 9x10 N/A
TTA221110 ST A 22 x11-10 2 22.9" 10.1" 330lb 10x8.25 N/A

www.specialtytire.ca

-14 -



Golf Cart

Turf Glide

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT806 4TG A 8.00-6 4 17.6" 71" 4101b 6x3.25

Multi Rib

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT858 4R IK 18 x8.50-8 4 17.6" 8.3" 815lb 8x7

Hole-N-1

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT858 4SW IK 18 x8.50-8 4 17.6" 8.2" 815Ib 8x7

Pro Tour/Pro-Rider

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT20510 4SW IK 205/50-10 4 18.3" 7.7" 664Ib 10x7
TT20510 4SW IE 205/50-10 4 18.2" N/A N/A 10x7
TT215124SW IE 215/50-12 4 20.5" N/A N/A 12x7
TT22512 4SW IE 225/35-12 4 18.2" N/A 665Ib 12x7

Links

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT858 4LI1I A 18 x8.50 - 8 4 17.4" 8.5" 815lb 8x7

Fairway Pro

Ply  Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT858 4FP A 18 x8.50-8 4 18.2" 84" 815lb 8x7

-15- www.specialtytire.ca



Golf Cart

OFFSET STEEL PLAIN STEEL
ALUMINIUM
DRIVER MARSHALL
HAZARD
AGGRESSOR RENEGADE
Golf Cart Wheels
Comes With
Part Number Size Bolt Pattern Offset Material Caps & Nuts
MWR 958 4 8 x7 4 on 4" 0 Steel no
MWR 958 4 OF 8 x7 4 on 4" 25" +45" Steel no
MWR 10X7 ALUM 10x7 4 on 4" 0 Aluminium no
MWR 10X7 ADR 10x7 4 on 4" 25"+45"  Auminium yes
MWR 10X7 AMA 10x7 4 on 4" 25"+45"  Auminium yes
MWR 12X7 AAG 12 x7 4 on 4" 2"+ 5" Aluminium yes
MWR 12X7 AHA 12 x7 4 on 4" 2"+ 5" Aluminium yes
MWR 12X7 ARE 12x7 4 0on 4" 2"+ 5" Aluminium yes

www.specialtytire.ca

-16 -



Turf Rider

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT354 2TR IK 410/350 - 4 2 10.4" 3.8" 260Ib 4x2.50
TT404 2TR IK 11 x4.00 -4 2 11.0" 4.0" 215lb 4x3
TT405 2TR IK 11 x4.00 -5 2 10.7" 3.7" 210Ilb 5x3
TT506 2TR IK 13 x5.00-6 2 12.8" 4.6" 295Ib 6x3.50
TT506 4TR IK 13 x5.00-6 4 12.8" 4.6" 440Ib 6x3.50
TT656 4TR IK 13 x6.50 -6 4 12.7" 6.1" 460Ib 6x4.50
TT606 2TR IK 15 x6.00 -6 2 13.9" 59" 335Ib 6x4.50
TT606 4TR IK 15 x6.00 -6 4 13.9" 59" 570Ib 6x4.50
TT658 2TR IK 16 x6.50 - 8 2 16.0" 6.2" 415Ilb 8x5.375
TT658 4TR IK 16 x6.50 - 8 4 16.0" 6.2" 620Ib 8x5.375
TT8658 4TR IK 18 x6.50 - 8 4 17.8" 6.7" 770lb 8x5
TT858 4TR IK 18 x8.50 -8 4 17.6" 8.5" 815Ilb 8x7
TT958 4TR IK 18 x9.50 -8 4 18.1" 8.9" 1040Ib 8x7
TT808 4TR IK 20x8.00-8 4 18.8" 8.9" 950Ib 8x7
TT1008 4TR IK 20x10.00 -8 4 19.7" 9.7" 750Ib 8x7
Turf Boss
Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT8512 4TR IK 23 x8.50-12 4 22.3" 7.5" 1115lb 12x7
TT10124TR IK 23 x10.50-12 4 22.8" 10.0" 1340lb 12x7
Turf Max
|TT9354 4TR IK 9x350-4 4 9.0" 3.7" 815lb 4x2.75
Super Turf Ply Mounted Mounted  Load  Wheel
Part Number Size Rating Diameter _ Width Capacity Required
TT405 4TRS IK 11x4.00-5 4 10.9" 3.9" 325Ib 5x3
TT506 4TRS IK 13x5.00-6 4 12.7" 4.8" 4401b 6x3.50
TT606 4TRS IK 15x6.00 -6 4 14.6" 6.2" 570Ib 6x4.50
TT658 4TRS IK 16 x6.50-8 4 15.7" 7.0" 620Ib 8x5.375
TT6758 4TRS IK 16x7.50-8 4 16.5" 7.4" 6271b 8x5.375
TT858 4TRS IK 18x8.50-8 4 17.8" 8.5" 815Ib 8x7
TT958 4TRS IK 18x9.50-8 4 16.2" 9.4" 1040Ib 8x7
TT1008 4TRS IK 20x10.00-8 4 19.7" 9.8" 1190Ib 8x7
TT1010 4TRS IK 20x10.00-10 4 19.6" 9.3" 1160lb 10x7.25
TT8512 4TRS IK 23x8.50-12 4 22.6" 8.4" 1120lb 12x7
TT1012 4TRS IK 23 x10.50-12 4 22.8" 10.4" 1340lb 12x8.50
TT1212 4TRS IK 26 x12.00 - 12 4 25.8" 12.8" 1185lb 12x10.50
Turf Mate
Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT808 2TMA 20x8.00-8 2 191" 8.8" 600lb 8x7
TT1008 4TMA 20 x10.00 -8 4 19.2" 9.5" 1130lb 8x7

-17 -

www.specialtytire.ca




Turf Saver

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT9354 4TS A 9x3.50-4 4 8.8" 3.6" 260Ib 4x2.50
TT354 2TS A 4.10/3.50-4 2 10.8" 3.8" 230Ib 4x2.50
TT404 2TS A 11 x4.00-4 2 11.2" 42" 215lb 4x2.50
TT405 2TS A 11 x4.00-5 2 10.8" 4.0" 210lb 5x3
TT506 2TS A 13x5.00-6 2 12.9" 4.7" 2951b 6x3.50
TT506 4TS A 13x5.00-6 4 12.9" 4.8" 440Ib 6x3.50
TT656 2TS A 13 x6.50 -6 2 13.2" 6.5" 305lb 6x4.50
TT656 4TS A 13 x6.50 -6 4 13.4" 6.3" 460Ib 6x4.50
TT606 2TS A 15 x6.00 -6 2 14.5" 6.2" 365lb 6x4.50
TT408 2TS A 480-8 2 16.5" 4.8" 435Ilb 8x3.75
TT658 2TS A 16 x6.50-8 2 16.1" 6.5" 380lb 8x5.375
TT658 4TS A 16 x6.50 -8 4 16.3" 6.4" 620Ib 8x5.375
TT6758 2TS A 16 x7.50 -8 2 16.5" 71" 4751b 8x5.375
TT8658 2TS A 18 x6.50 -8 2 17.2" 6.5" 515lb 8x5.375
TT8658 4TS A 18 x6.50 -8 4 17.6" 6.7" 770lb 8x5.375
TT8758 4TS A 18 x7.50-8 4 18.0" 7.5" 835Ib 8x5.375
TT858 2TS A 18 x850-8 2 17.8" 8.3" 515Ilb 8x7
TT858 4TS A 18 x850-8 4 18.0" 8.2" 815lb 8x7
TT958 2TS A 18 x9.50-8 2 17.7" 9.5" 695Ib 8x7
TT958 4TS A 18 x9.50-8 4 18.1" 9.6" 10401b 8x7
TT958 6TS A 18 x9.50-8 6 18.5" 9.5" 13201b 8x7
TT808 2TS A 20x8.00-8 2 19.1" 9.1" 600Ib 8x7
TT1008 2TS A 20x10.00-8 2 19.6" 101" 750Ib 8x7
TT8104TS A 20x8-10 4 20.0" 7.9" 895Ib 10x6
TT10104TS A 20x10.00-10 4 20.8" 8.8" 1225Ib 10x6
TT210710 2TS A 21x7.00-10 2 20.2" 6.9" 685Ib 10x5.375
TT229512 2TS A 22 x9.50-12 2 21.3" 8.9" 870Ib 12x7
TT8512 2TS A 23 x8.50-12 2 23.1" 8.5" 705lb 12x7
TT9512 2TS A 23 x9.50-12 2 23.2" 9.5" 920Ib 12x7
TT1012 2TS A 23 x1050-12 2 22.6" 10.5" 890Ib 12x8.50
TT10124TS A 23 x1050-12 4 22.8" 10.3" 1340Ib 12x8.50
TT2412122TS A 24 x12.00-12 2 23.0" 11.6" 1135lb 12x8.50
Turf CTR

Ply  Mounted Mounted Load Wheel
Part Number Size Rating Diameter _ Width Capacity Required
TT221108 4TCT A 22 x11.00-8 4 22.4" 10.8" 955lb 8x9

Ultra Trac

Ply  Mounted Mounted Load Wheel
Part Number Size Rating Diameter _ Width Capacity Required
TT241312 4UT A 24 x13.00-12 4 23.2" 13.0" 1730lb 12x10.50
TT241312 6UT A 24 x13.00-12 6 22.7" 13.0" 2240Ib 12x10.50
TT261412 4UT A 26.5x14.00-12 4 26.5" 14.4" 2170Ib 12x11
TT291415 6UT A 29x14.00-15 6 29.0" 14.0" 1710lb 15x11

www.specialtytire.ca

-18 -



Multi Trac C/S

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT180708 4MT A 18 x7.00-8 4 17.9" 6.9" 785Ib 8x5.375
TT858 8MT A 18 x8.50-8 8 17.7" 8.3" 12201b 8x7
TT958 6MT A 18 x9.50-8 6 18.2" 9.0" 13201b 8x7
TT808 2MT A 20x8.00-8 2 19.4" 8.8" 625Ib 8x7
TT1808104MTA 18 x8.00-10 4 17.9" 7.8" 830Ib 10x7
TT1885104MTA 18 x8.50-10 4 18.1" 8.3" 7951b 10x7
TT1810104MTA 18x10.50-10 4 17.8" 10.1" 990Ib 10x8
TT1010 6MT A 20x10.00-10 6 19.6" 9.6" 14501b 10x8
TT8512 6MT A 23 x8.50-12 6 22.6" 8.3" 14401b 12x7
TT9512 4MT A 23x9.50-12 4 22.7" 9.3" 1380Ib 12x7
TT1012 6MT A 23 x10.50-12 6 22.6" 10.4" 1760Ib 12x8.50
TT2495124MTA 24 x9.50-12 4 24.0" 9.5" 1430Ib 12x7
TT2412124MT A 24 x12.00-12 4 23.6" 11.5" 1700Ib 12x8.50
TT12124MT A 26 x12.00-12 4 25.2" 12.2" 1780Ib 12x8.50
TT1212 6MT A 26 x12.00-12 6 25.2" 12.2" 2250Ib 12x8.50
TT248514 4MTA 24 x8.50-14 4 24.0" 8.5" 1230Ib 14x7
TT258514 4MT A 25x8.50-14 4 25.0" 8.5" 1320Ib 14x7
TT258514 6MT A 25x8.50-14 6 25.0" 8.5" 1640Ib 14x7
TT2785154MT A 27 x8.50-15 4 26.6" 8.5" 12301b 16x7
TT2785156MT A 27 x8.50-15 6 26.6" 8.6" 15701b 16x7
TT2710154MTA 27 x10.50 - 15 4 26.9" 10.2" 13201b 15x8.50
TT3113154MTA 31x13.50-15 4 31.5" 13.2" 21501b 15x10.50

Turf Master

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT656 4TMA A 13x6.50-6 4 131" 6.3" 460Ib 6x4.50
TT606 4TMA A 15x6.00 -6 4 14.5" 6.0" 570lb 6x4.50
TT156508 2TMAA 15x6.50-8 2 15.0" 6.3" 415lb 8x5.375
TT658 4TMA A 16 x6.50 - 8 4 16.5" 6.3" 620Ib 8x5.375
TT6758 4TMAA 16 x7.50 -8 4 16.5" 7.0" 680Ib 8x5.375
TT858 4TMAA 18 x8.50-8 4 18.4" 8.1" 815Ilb 8x7
TT958 4TMAA 18 x9.50 -8 4 18.1" 9.2" 1040Ib 8x7
TT1008 4TMAA 20x10.00 -8 4 19.6" 104" 1190Ib 8x7
TT10104TMAA 20x10.00-10 4 20.0" 8.8" 1160Ib 10x7
TT2211104TMAA 22x11.00-10 4 214" 104" 1485Ilb 10x7
TT2295124TMAA 22x9.50-12 4 21.8" 9.1" 1310Ib 12x7
TT85124TMAA 23 x8.50-12 4 22.9" 8.4" 11201b 12x7
TT95124TMAA 23 x9.50-12 4 23.6" 9.8" 13801b 12x7
TT10124TMAA 23 x10.50-12 4 22.8" 10.0" 13401b 12x8.50
TT249512 4TMAA 24 x9.50-12 4 23.6" 9.6" 15001b 12x7
TT2412124TMAA 24 x12.00-12 4 23.3" 11.4" 17001b 12x8.50

-19-

www.specialtytire.ca




Turf Trac R/S

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT405 2TTR A 11 x4.00-5 2 10.6" 4.0" 210Ib 5x3
TT606 4TTR A 15 x6.00 -6 4 14 4" 6.3" 570Ib 6x4.50
TT658 4TTR A 16 x6.50 - 8 4 16.0" 6.8" 6201b 8x5.375
TT858 4TTR A 18 x8.50-8 4 17.7" 8.1" 815Ilb 8x7
TT958 2TTR A 18 x9.50 -8 2 17.5" 9.1" 695Ib 8x7
TT1008 4TTR A 20x10.00-8 4 19.5" 9.9" 11901Ib 8x7
TT12094TTR A 25x12.00-9 4 257" 11.6" 18201b 12x9.50
TT10104TTR A 20x10.00-10 4 19.6" 9.3" 11601Ib 10x8
TT2012104TTR A 20x12.00- 10 4 19.6" 11.7" 13201b 10x8
TT2295104TTR A 22x9.50-10 4 21.7" 9.5" 980Ib 10x7
TT2495104TTR A 24 x9.50-10 4 24 3" 9.8" 1410Ib 10x7
TT2412104TTR A 24 x12.00-10 4 24 5" 11.5" 1740Ib 10x7.75
TT10124TTR A 23 x10.50-12 4 224" 101" 1340Ib 12x8.50
TT241212 6TTR A 24 x12.00-12 6 23.5" 11.0" 2240Ib 12x8.50
TT1212 10TTRA 26 x12.00-12 10 253" 12.4" 3100Ib 12x8.50
Smooth
Ply  Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT8304 4SM IK 8x3.00-4 4 8.5" 3.0" 375lb 4x2.10
TT8304 4SM A 8x3.00-4 4 8.2" 2.9" 120b 4x2.50
TT9354 4SM IK 9x3.50-4 4 9.0" 3.7" 260lb 4x2.75
TT9354 4SM A 9x3.50-4 4 8.7" 3.7" 260lb 4x2.50
TT405 4SM IK 11x4.00-5 4 11.2" 3.9" 325Ib 5x3
TT405 4SM A 11x4.00-5 4 11.0" 4.0" 325lb 5x3
TT506 4SM IK 13x5.00-6 4 12.6" 4.8" 4401b 6x3.50
TT506 4SM A 13x5.00-6 4 12.7" 4.8" 4401b 6x3.50
TT656 4SM IK 13x6.50-6 4 12.8" 6.1" 4601b 6x5.0
TT656 4SM A 13x6.50-6 4 12.9" 5.9" 4601b 6x4.50
TT408 4SM IK 4.80/4.00 - 8 4 15.7" 3.9" 670lb 8x2.50
TT408 4SM A 4.80-8 4 16.8" 4.8" 760lb 5x3.75
TT958 4SM A 18x9.50-8 4 17.8" 8.7" 10401b 8x7
TT181010 2SM A 18 x10.50 - 10 2 18.1" 10.0" 730lb 10x8.50
TT1010 2SM A 20 x 10.00-10 2 19.6" 9.5" 815Ib 10x8

www.specialtytire.ca

-20-




Multi & Straight Rib

Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT404 4SR A 11 x4.00-4 4 10.4" 41" 350Ib 4x2.50
TT405 4R IK 11 x4.00-5 4 10.7" 3.7" 3251b 5x3
TT506 4R IK 13x5.00-6 4 10.8" 4.6" 4401b 6x3.50
TT506 4SR A 13 x5.00-6 4 12.9" 4.7" 4401b 6x3.50
TT656 4R IK 13x6.50-6 4 12.76" 5.9" 465Ib 6x4.50
TT656 4SR A 13 x6.50-6 4 13.0" 6.0" 460lb 6x4.50
TT606 4R IK 15 x6.00-6 4 13.9" 5.9" 570Ib 6x4.50
TT606 4SR A 15x6.00-6 4 14.5" 6.1" 570Ib 6x4.50
TT658 4R IK 16 x6.50 - 8 4 15.6" 6.6" 620Ib 8x56.375
TT658 4SR A 16 x6.50 - 8 4 159" 6.4" 415lb 8x56.375
TT958 4SR A 18 x9.50-8 4 17.7" 9.3" 10401b 8x7
TT10104SR A 20x10.00-10 4 20.0" 8.7" 11601b 10x6
TT12124SR A 26 x12.00-12 4 25.0" 11.7" 1780I1b 12x10.50
Wheelbarrow
TT406 2R IK 400-6 2 13.4" 4.0" 485lb 6x2.50
TT408 2R IC 480-8 2 15.8" 3.9" 550Ib 8x2.50
TT408 4R IK 4.80/4.00 -8 4 16.7" 4.0" 670Ib 8x2.50
TT408 4R A 480-8 4 16.3" 4.5" 765lb 8x2.50
Slick
Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT354 4SL IK 4.10/3.50-4 4 101" 3.7" 3521b 4x2.50
TT3554SL IK 4.10/3.50-5 4 111" 3.7" 3961b 5x2.75
TT356 4SL IK 4.10/3.50 -6 4 12.4" 3.7" 4401b 6x3.25
Grey Rubber Ply  Mounted Mounted Load Wheel
Part Number Size Rating Diameter _ Width Capacity Required
TT284 4SW GR IK 2.80/2.50-4 4 9.0" 2.6" 295lb 4x2.25
TT9354 4TR GR IK 9x350-4 4 9.0" 3.7" 350Ib 4x2.75
TT304 4TR GR IK 3.00 - 4 (260x85) 4 10.4" 3.3" 375lb 4x2.25
TT354 4SW GR IK 410/3.50-4 4 10.6" 3.9" 350Ib 4x2.25
TT355 4SW GR IK 410/3.50-5 4 11.5" 3.4" 395lb 5x2.75
TT355 4ST GR IK 4.10/3.50-5 4 11.7" 3.6" 395lb 5x2.50

-21 -

www.specialtytire.ca




Stud

Ply  Mounted Mounted Load Wheel
Part Number Size Rating Diameter _ Width Capacity Required
TT354 2ST IK 4.10/3.50 - 4 2 10.4" 3.4" 260lb 4x2.25
TT354 2ST A 410-4 2 10.6" 3.6" 230lb 4x2.50
TT354 4ST IK 4.10/3.50 -4 4 10.7" 3.3" 350lb 4x2.25
TT355 2ST IK 4.10/3.50-5 2 11.5" 3.4" 255lb 5x2.75
TT3552ST A 410-5 2 11.6" 3.8" 260lb 5x3
TT356 2ST IK 4.10/3.50 - 6 2 12.4" 3.6" 285lb 6x2.75
TT356 2ST A 410-6 2 12.5" 3.9" 290lb 6x3.25
TT356 4ST IK 4.10/3.50-6 4 12.4" 3.6" 440lb 6x2.75
TT456 2ST IK 5.30/4.50 -6 2 14.0" 4.6" 410lb 6x3.50
TT408 2ST IK 4.80/4.00 -8 2 16.0" 4.0" 435lb 8x2.50
TT408 2ST A 4.80-8 2 16.4" 4.7" 435lb 8x3.75
TT408 4ST IK 4.80/4.00-8 4 16.0" 4.0" 473lb 8x2.50
TT408 4ST A 4.80-8 4 16.3" 5.4" 670lb 8x3.75

Sawtooth
Ply Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT284 4SW IK 2.80/2.50 -4 4 9.0" 2.6" 295Ib 4x2.25
TT284 4SW A 280-4 4 9.0" 29" 180Ib 4x2.50
TT354 2SW IK 4.10/3.50 -4 2 10.4" 3.4" 260Ib 4x2.25
TT354 4SW IK 4.10/3.50 -4 4 10.4" 3.4" 350Ib 4x2.25
TT354 4SW A 410-4 4 10.5" 3.8" 350Ib 4x2.50
TT3554SW IK 4.10/3.50 -5 4 11.5" 3.4" 395Ib 5x2.75
TT356 4SW IK 4.10/3.50 -6 4 12.4" 3.6" 4401b 6x2.75
TT356 4SW A 4.10/3.50 -6 4 13.0" 42" 4951b 6x3.25
TT456 4SW IK 5.30/4.50 -6 4 14.0" 4.6" 440Ib 6x3.50
TT456 6SW A 5.30/4.50 - 6 6 14.6" 53" 885Ib 6x3.50
Lug |
TT284 4LU IK 2.80/2.50-4 4 8.5" 2.3" 295Ib 4x2.10 |
X-Trac

Ply  Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT13406 2XT A 13x4.00-6 2 12.7" 4.0" 280Ib 6x3.25
TT506 2XT A 13x5.00-6 2 12.9" 4.7" 2951b 6x3.50
TT15506 2XT A 15x5.00-6 2 14.6" 51" 4051b 6x3.50
TT408 2XT A 480-8 2 16.6" 4.7" 435b 8x3.75
TT658 2XT A 16 x6.50 - 8 2 16.5" 6.1" 415lb 8x5.375

Snow Hog

Ply  Mounted Mounted Load Wheel
Part Number Size Rating Diameter  Width Capacity Required
TT354 2SH A 410-4 2 11.0" 3.7" 230Ib 4x2.50
TT356 2SH A 410-6 2 12.8" 4.0" 290lb 6x3.25
TT506 2SH A 13x5.00-6 2 13.0" 4.7" 2951b 6x3.50
TT15506 2SH A 15x5.00-6 2 14.8" 51" 4051b 6x3.50
TT408 2SH A 480-8 2 16.2" 4.7" 435b 8x3.75
TT658 2SH A 16 x6.50-8 2 16.3" 6.2" 415lb 8x5.375
TT8658 4SH A 18x6.50-8 4 17.2" 6.6" 770lb 8x5.375

www.specialtytire.ca

-22-



3 pc Split Rims

Part Number Size Hub Bolt Pattern Bearing

MWR 44DM N 4 x2-1/8 Centered 4 on 2-3/16" N/A

MWR 44DM 4 x 2-3/4 Centered 4 on 2-3/16" N/A

MWR 54DM 5 x 2-3/4 Centered 4 on 2-3/16" N/A

MWR 64DM 6 x 3-1/4 Centered 4 on 2-3/16" N/A

MWR 64DM OF W 6 x 4-3/8 1" Offset 4 on 2-3/16" N/A
Hubs / 3pc Rims

Part Number Hub Width Hub Bolt Pattern Bearing

MWH 413 34BB 2-1/2" Centered 4 on 2-3/16" 3/4"Ball Bearing

MWH 414 34BB 3" Centered 4 on 2-3/16" 3/4"Ball Bearing

MWH 419 34BB 3-1/4" Centered 4 on 2-3/16" 3/4"Ball Bearing

MWH 418 34BB 3-1/2" Centered 4 on 2-3/16" 3/4"Ball Bearing

MWH 415 34BB 4" Centered 4 on 2-3/16" 3/4"Ball Bearing

MWH 411 34BB 2" 1-3/4" Offset 4 on 2-3/16" 3/4"Ball Bearing

MWH 412 34BB 2-1/4" Offset 4 on 2-3/16" 3/4"Ball Bearing

MWH 417 34BB 3-1/4" 2-1/4" Offset 4 on 2-3/16" 3/4"Ball Bearing

MWH 431 34 3" Offset 4 on 2-3/16"  3/4"Tapered Bearing

MWH 431C 34 3" Centered 4 on 2-3/16"  3/4"Tapered Bearing

MWH 432C 34 4" Centered 4 on 2-3/16"  3/4"Tapered Bearing

MWH 451 3" Centered 4 on 2-3/16" 1"Keyway

MWH 452 3 3" Centered 4 on 2-3/16" 3/4"Keyway

MWH 421 34BB 3-1/2" Centered Double Flange 4 on 2-3/16" 3/4"Ball Bearing

NHS Hubs 4 on 4"bc

Part Number Hub Width Hub Bolt Pattern Bearing
MWH4A4 34BB 4" Centered 4 on 4" 3/4"Ball Bearing
MWH4KY1 3-1/2" Centered 4 on 4" 1"Keyway
MWH4KY 34 3-1/2" Offset 4 on 4" 3/4"Keyway

Go Kart Parts

Part Number Description

MW35A60
MW35A72

MW41A45
MW41A54

MWMT10 11RC35
MWMT12 12RC35

MWMT12 10RC41

MWSB5308

HWCR34X3

HWCR58X3
HWCR1X3

60 TOOTH DRIVE SPROCKET Fits #35 CHAIN /4 on 2-3/16" Holes
72 TOOTH DRIVE SPROCKET Fits #35 CHAIN /4 on 2-3/16" Holes

45 TOOTH DRIVE SPROCKET Fits #41 CHAIN /4 on 2-3/16" Holes
54 TOOTH DRIVE SPROCKET Fits #41 CHAIN /4 on 2-3/16" Holes

11-TOOTH MAX-TORQUE CLUTCH 5/8"BORE TO FIT #35 CHAIN
12-TOOTH MAX-TORQUE CLUTCH 3/4"BORE TO FIT #35 CHAIN

10-TOOTH MAX-TORQUE CLUTCH 3/4"BORE TO FIT #41 CHAIN

STRAP BRAKE 4" BAND & DRUM/4 on 2-3/16" Holes

COLD ROLLED 3/4" AXLE 3 FT. LENGTH

COLD ROLLED 5/8" AXLE 3 FT.LENGTH
COLD ROLLED 1"AXLE 3 FT. LENGTH

-23-

www.specialtytire.ca




1pc Integral High Speed Wheels

Part Number Size Hub Material Bearing
MWW 81WB 8x3.75 4-1/8" Centered Steel 1"Tapered Bearing
MWW 83WB 8x3.75 4-1/8" Centered Steel 3/4"Tapered Bearing
Note: Complete with Bearings, Seal & Dust Cap

2pc Integral Hub Rims
Part Number Size Hub Material Bearing
MWW M4 34BB 4 x2-1/2 2-1/8" Centered Steel 3/4"Ball Bearing
MWW M5 34BB 5 x 2-3/4 2-1/4" Centerd Steel 3/4"Ball Bearing
MWW M6 34BB 6 x 3-1/4 2-5/8" Centered Steel 3/4"Ball Bearing

1pc Integral Hub Rims
Part Number Size Hub Material Bearing
MWW DC4 2250 1 4 x2-1/4 2-1/4" Offset Steel 3/4"Ball Bearing
MWW DC4 3C 1 4 x2-1/4 3" Centered Steel 3/4"Ball Bearing
MWW DC4 225W 1 4 x 2-3/4 2-1/4" Offset Steel 3/4"Ball Bearing
MWW DC4 3W 1 4 x 2-3/4 3" Centered Steel 3/4"Ball Bearing
MWW DC4 325W 1 4 x 2-3/4 3-1/4" Offset Steel 3/4"Ball Bearing
MWW DC4 4W 1 4 x 2-3/4 4" Centered Steel 3/4"Ball Bearing
MWW DC5 30 1 5x3 3" Offset Steel 3/4"Ball Bearing
MWW DC6 3N25 1 6 x2-1/2 3" Centered Steel 3/4"Ball Bearing
MWW DC6 4N25 1 6 x2-1/2 4" Centered Steel 3/4"Ball Bearing
MWW DC6 6N25 1 6 x2-1/2 6" Centered Steel 3/4"Ball Bearing
MWW DC6 3C34BB 6 x 3-1/4 3" Centered Steel 3/4"Ball Bearing
MWW DC6 30C34B 6 x 3-1/4 3" Offset Steel 3/4"Bushing
MWW DC6 34N 1 6 x 3-1/4 3-1/4" Offset Steel 3/4"Ball Bearing
MWW DC6 4C34BB 6 x3-1/4 4" Centered Steel 3/4"Ball Bearing
MWW DC6 3W1KW 6 x4-1/2 3" Centered Steel 1"Keyway
MWW DC6 3W34B C 6 x4-1/2 3" Centered Steel 3/4"Bushing
MWW DC6 3W34B O 6 x4-1/2 3" Offset Steel 3/4"Bushing
MWW DC6 34W 1 6 x4-1/2 3-1/4" Offset Steel 3/4"Ball Bearing
MWW DC8 3N34BB 8 x2-1/2 3" Centered Steel 3/4"Ball Bearing
MWW DC8 4N34BB 8 x2-1/2 4" Centered Steel 3/4"Ball Bearing
MWW DC8 6N34BB 8 x2-1/2 6" Centered Steel 3/4"Ball Bearing
MWW DC8 3W34BB 8 x 3-3/4 3" Centered Steel 3/4"Ball Bearing
MWW DC8 4W34BB 8 x 3-3/4 4" Centered Steel 3/4"Ball Bearing
MWW DC8 3X34BB 8 x 5-3/8 3" Offset Steel 3/4"Ball Bearing
MWW DC8 4X34BB 8 x 5-3/8 4" Offset Steel 3/4"Ball Bearing
MWW DC8 34XW34BB 8x7 3-1/4" Centered Steel 3/4"Ball Bearing
MWW DC8 35XW34KE 8x7 3-1/2" (-2.5" Offset) Steel 3/4"Keyway
MWW DC8 35XW34P 8x7 3-1/2" Offset Plastic 3/4"Delrin Bearing
MWW DC8 875X34RB 8x7 8-3/4" Centered Steel 3/4"Flanged Roller

NOTE: The Standard size of ball bearings used in most hubs & rims is 3/4".
Optional 1/2", 5/8" 3/4" ball bearings or 1/2", 5/8", 3/4", 1" Qilite bushings may
be substituted at no additional cost. Please specify bearing size & type at time

of purchase. ** See Page 30 for bearings **

www.specialtytire.ca

-24 -




Lawn & Garden Tubes

Part Number

Description

TTT1617513 |
TTT202125 13 |
TTT262125 13 |

TTT2005 87 |
TTTEX2 87
TTT253 87 |

TTT254 87 |
TTT254 87P |
TTTO354 87 |
TTT354 |
TTT354 87 |

TTT305 87 |
TTT355 87 |
TTT405 87 |
TTT4051
TTT104505 87 |
TTT605 87 |
TTT117105 87 |

TTT356 87 |
TTT406 |
TTT456 87 |
TTT456 |
TTT506 87 |
TTT506 |
TTT656 |
TTT606 87 |
TTT606 |
TTT806 87 |

TTT308 |
TTT408 |
TTT408 87 |
TTT508 |
TTT658 |
TTT858 |
TTT1008 |

TTT1010 |

TTT4121
TTT452 |
TTT8512 |
TTT1012 |
TTT1212 |

16 x 1.75 TUBE TR-13 Valve (SP16PSI)
20 x 2.125 TUBE TR-13 Valve (SP20PSI)
26 x 2.125 TUBE TR-13 Valve (SP26PSI)

200-50 TUBE TR-87P Valve
6x2 TUBE TR-87 Valve (6PN)
250-3 TUBE TR-87 Valve

2.80/2.50-4, (8X3.00-4) TUBE TR-87 Valve (8pn)
2.80/2.50-4 TUBE TR-87 Parallel Valve

9x3.50-4 TUBE TR-87 Valve

4.10/3.50-4 TUBE TR-13 Valve (10pn)
4.10/3.50-4, (10.5/350-4) TUBE TR-87 Valve

3.40/3.00-5 TUBE TR-87 Valve
4.10/3.50-5 TUBE TR-87 Valve
11x4.00-5 TUBE TR-87 Valve

11x4.00-5 TUBE TR-13 Valve

10x4.50-5 TUBE TR-87 Valve (Go-Kart)
11x6.00-5 TUBE TR-87 Valve (Go-Kart)
11x7.10-5 TUBE TR-87 Valve (Go-Kart)

4.10/3.50-6 TUBE TR-87 Valve
4.00-6 TUBE TR-13 Valve

5.30/4.50-6, (15X5.00-6) TUBE TR-87 Valve
5.30/4.50-6, (15X5.00-6) TUBE TR-13 Valve
13x5.00-6 TUBE TR-87 Valve

13x5.00-6 TUBE TR-13 Valve

13x6.50-6 TUBE TR-13 Valve

15x6.00-6, (145/70-6) TUBE TR-87 Valve
15x6.00-6, (145/70-6) TUBE TR-13 Valve
8.00-6 TUBE TR-87 Valve

3.50/3.00-8 TUBE TR-13 Valve

4.80/4.00-8 TUBE TR-13 Valve (Wheelbarrow)
4.80/4.00-8 TUBE TR-87 Valve

5.70-8, (16X7.50-8) TUBE TR-13 Valve

16x6.50-8, 16x7.50-8, 18x6.50-8 TUBE TR-13 Valve
18x8.50-8, 18x9.50-8, 20x8-8 TUBE TR-13 Valve
20x10-8, 22x11-8, 21x12-8 TUBE TR-13 Valve

20x10-10, 20x8-10, 18x8.50-10 TUBE TR-13 Valve

4.80/4.00-12 TUBE TR-13 Valve
5.30/4.80/4.50-12 TUBE TR-13 Valve
23x8.50-12, 23x9.50-12 TUBE TR-13 Valve
23x10.5-12, 26x12-12 TUBE TR-13 Valve
24x12-12, 26x12-12 TUBE TR-13 Valve

www.specialtytire.ca

TR-13

TR-87




TR-13

TR-87

Trailer Tubes

Part Number Description

TTT408 | 4.80/4.00-8 TUBE TR-13 Valve

TTT508 | 5.70-8, (16X7.50-8) TUBE TR-13 Valve

TTTE58 | 16x6.50-8, 16x7.50-8, 18x6.50-8 TUBE TR-13 Valve
TTT858 | 18x8.50-8, 18x9.50-8, 20x8-8 TUBE TR-13 Valve
TTT1010 | 20x10-10, 20x8-10, 18x8.50-10 TUBE TR-13 Valve
TTT412 1 4.80/4.00-12 TUBE TR-13 Valve

TTT452 | 5.30/4.80/4.50-12 TUBE TR-13 Valve

TTTFR12 13| FR-12 (RADIAL) TUBE C/W TR13 Valve

TTT17513R 13 |
TTT20514R 13 |
TTT7145 300 |
TTT23515R 13 |
TTT23515R 150 |
TTT23516R 150 |

175/75R-13 (B78) RADIAL TUBE TR-13 Valve (FR-13/14)
205/215/75R-14 RADIAL TUBE TR-13 Valve (KR14-15)

7/ 8/9-14.5 TUBE With TR300 Valve

225/235/75R-15 RADIAL TUBE TR-13 Valve ~ (MR14/15)
700R/215/235/75R15 RADIAL TUBE TR-150 Valve
225/235/85R-16 RADIAL TUBE TR-150 Valve (700/750R-16)

Industrial & AG Tubes

Part Number Description
TTT508 JS2 | 5.70/5.00-8 TUBE JS-2 Valve
TTT878 87 A 18x7-8 TUBE TR-87 Valve
TTT409 JS2 | 4.00/4.80-9 TUBE JS-2 Valve
TTT609 JS2 | 6.00/6.90-9 TUBE JS-2 Valve
TTT6510 JS2 | 6.50/7.50-10 TUBE JS-2 Valve
TTT712 4401 7.00-12 TUBE TR-440 Valve
TTT9515 13 | 8.5/9.5L-14/15 TUBE TR-13 Valve
TTT28915 440 | 28x9-15 TUBE TR-440 Valve

TTT1115R 13 A
TTT11L15 151
TTT5916 15 |
TTT125L16 15 A
TTT10165 TR15
TTT10165R 15 |
TTT12165 151

10/11R-15LT RADIAL TUBE TR-13 Valve
11L-15/16SL TUBE TR-15CW Valve
5.50/5.90/6.00/6.40-16SL Tube TR-15 Valve
12.5L-15/16SL TUBE TR-15CW Valve
9.50/10-16.5 TIRE TUBE TR15CW Valve
9/10R-16.5 TUBE TR-15 Valve

12-16.5 TUBE TR15CW Valve

ATV Tubes
Part Number Description
TTT160807 6 | 16x8.00-7 ATV TUBE TR-6 Valve
TTT20708 6 | 20x7-8 ATV TUBE TR-6 Valve
TTT22118 6 | 22x11-8 ATV TUBE TR-6 Valve
TTT221196 | 22x11-9, 22x10-9 ATV TUBE TR-6 Valve
TTT251296 | 25x12-9 ATV TUBE TR-6 Valve
TTT217106 | 21x7-10, 20.5x8-10, 22x8-10 ATV TUBE TR-6 Valve
TTT221106 | 22x11-10 ATV TUBE TR-6 Valve
TTT2411106 | 24x11-10, 25x11-10 ATV TUBE TR-6 Valve
TTT249116 | 23x8-11, 23.5x8-11, 24x9-11 ATV TUBE TR-6 Valve
TTT251126 | 25x8-12/25x10-12 ATV TUBE TR-6 Valve
TTT1212R 6 | AT24x12/26x12R -12 RADIAL ATV TUBE TR-6 Valve

www.specialtytire.ca

-26 -



Lawn & Garden

Part Number # of Links FITS TIRE SIZE ALSO FITS TIRE SIZE

MWTC 354 2 4.10/3.50 -4 3.40/3.00-5

MWTC 356 2 410/350-6 410/3.50-5,12 X 3.00

MWTC 506 2 13X 5.00 - 6 13X 4.00-6,12.5X4.50-6

MWTC 456 2 530/4.50-6  reesessscooscnoos

MWTC 408 2 4.80/4.00-8

MWTC 658 2 16X 6.50-8  weeecesoeoooooeoooo

MWTC 8658 2 18 X 6.50 - 8

MWTC 858 2 18X 8.50-8  ememnnooononooo

MWTC 858 4 4 18 X 8.50 - 8

MWTC 958 2 18 X 9.50 - 8

MWTC 958 4 4 18X 9.50-8  weesoesoooooooeooo

MWTC 1008 2 20X10-8

MWTC 810 2 20X 8-10 20X 8-8

MWTC 1010 2 20X 10-10

MWTC 1010 4 4 20X 10-10  weeseeconooocnons

MWTC 8512 2 2 23X 8.50 - 12 225X 7.50 - 12

MWTC 8512 4 4 23 X 8.50-12 225X7.50-12

MWTC 1012 2 2 23X 10.50 - 12 23X 9.50 - 12

MWTC 1012 4 4 23 X 10.50 - 12 23 X9.50- 12

MWTC 1212 2 26 X 12-12  ewmestemeeeeeoeooo

To Fit Snow Hog Tires

Part Number # of Links FITS TIRE SIZE

MWTC 356 SH 2 4.10/3.50 -6

MWTC 506 SH 2 13X 5.00-6

MWTC 408 SH 2 4.80/4.00-8

MWTC 658 SH 2 16 X 6.50 - 8

V-Bar For ATV's

Part Number # of Links FITS TIRE SIZE FITS TIRE SIZE FITS TIRE SIZE

MWTC A133568 2 2 22x7-10, 22x8-10 23x7-10, 23x8-10 24 x11-10,22x8 - 11
22x9-10, 22x10-10

MWTC A133570 2 2 22x9-8, 22x11-8 22x11-10, 24 x11-10 24x8-11, 24x8-12
22x10-9, 22x11-9 22x10-11, 23.5x8- 11

MWTC A133571 2 2 23x10-10, 24 x 9 - 11 23x10-12, 24x9-12 25x8-12, 26 x8-12
24x10-11, 24 x 11 - 11 24x10-12, 24 x11-12

MWTC A133572 2 2 25x11-9, 25x12-9 25x10-12, 25x 11-12 26 x 12-12
25x11-10, 25x12-10 26x10-12, 26 x 11-12

MWTC A133575 4 4 22x7-10, 22x8-10 23x8-10, 23x11-10 23 x8-11
22x9-10, 23x7-10

MWTC A133576 4 4 22x9-8, 22x10-8 22x10-9, 22x11-9 24x11.5-10, 22 x10- 11
22x11-8, 20x10-9 22x10-10, 22x11-10 235x8-11, 24x8-11, 24x8-12

MWTC A133577 4 4 23x10-10, 24 x 11 -10 24 x11-11, 23x10-12 24x11-12, 24x115-12
24x9-11, 24 x10 - 11 24x9-12, 24x10-12 25x8-12, 26 x8-12

MWTC A133578 4 4 25x11-9, 25x12-9 25x10-12, 25x11-12
25x11-10, 25x 12 - 10 26 x10-12, 26 x 11-12, 26 x 12 - 12

-27 - www.specialtytire.ca




Pneumatic Wheel Assemblies

Part Number Description

BC6PN RB 6x2 PNEUMATIC WHEEL/TT 2-3/16HL 3/4RB 300lb
BC8PN 8" PNEUMATIC WHEEL(250/4) 2.5"CTR HUB 300Ib
BC8PN OFF 8" PNEUMATIC WHEEL(250/4) 2-1/8"OFFSET 5/8"BB
BC8PN L 8" PNEUMATIC WHEEL(250/4) 3.25"CTR HUB 300Ib
BC10PNSW3P 10"PNEUMATIC 3PC WHEEL 1-7/8"CTR HUB BB 440lbs

BC10PNSW3P OFF
BC10PNSW3P L34
BC10PNSW3P 1RB
BC12PN

10"PNEUMATIC 3PC WHEEL/SW/50PSI 2-5/16"OFFSET HUB
10"PNEUMATIC 3PC WHEEL/SW/50PSI 4"CTR HUB 440Ib
10"PNEUMATIC 3PC WHEEL/1"RBx2.91"HL 440Ib
12"PNEUMATIC 3PC WHEEL 4ply 3/4"BBx3"HL 495Ib

BC12PN L 12"PNEUMATIC 3PC WHEEL4" CTR HUB

BC12PN RB1 12"PNEUMATIC 3PC WHEEL 1"RBx3"CTR HL 500Ib

MW506DC TR341 13X500-6 TURF SAVER 2PLY 3PC 2.5HL 34BB

MW406DC3 58BB 4.00-6 WHEELBARROW TIRE COMPLETE(260 Ibs)

MW606DC TR34I 15x600-6 2ply KENDA TURF,3/4"BBX3-1/4"OFFSET WHEEL 335lb

BC163PN4TT 480/400-8 4ply WHEELBARROW WHEEL/RIB/TT 3"HL x 3/4BB 520Ib

BC163PN4TT 1RB 480/400-8 4ply WHEELBARROW WHEEL/RIB/TT 3"HL x 1RB 520Ib

BC164PNATT 480/400-8 4plyWHEELBARROW WHEEL/RIB/TT 4"HL x 3/4BB 520Ib
Pneumatic Casters

Part Number Description

BCPC8PNBBI 8" SWIVEL 280/250-4 PNEUMATIC TIRE/BB 300Ib

BCPCBR8PNBBI 8" SWIVEL/BRAKE PNEUMATIC TIRE/BB 300Ib

BCPCR8PNBBI 8" RIGID 280/250-4 PNEUMATIC TIRE/BB 300lb

BCPC10PNBBI 10"SWIVEL 410/350-4 PNEUMATIC TIRE/BB 330Ib

BCPCBR10PNBBI 10" SWIVEL/BRAKE PNEUMATIC TIRE/BB 330Ib

BCPCR10PNBBI 10" RIGID 410/350-4 PNEUMATIC TIRE/BB 330Ib

Carefree/Flat-Free Tires
Part Number Description

TT284 U25 SW
TT354 U25 SW
TT8304 U250 SM
TT9354 U275 SM
TT405 U30 SM
TT356 U325 SM
TT408 U25 R

280/250-4(2.50)ELIMINATOR SAWTOOTH(9"0.D.)
410/350-4(2.50)ELIMINATOR SAWTOOTH (10.2"0D)
8x300-4(2.50) ELIMINATOR SMOOTH (8.0"0OD)
9x3.50-4(2.75)ELIMINATOR SMOOTH(9.0"0OD)
11x4.00-5(3.00)ELIMINATOR SMOOTH(10.4"0D
4.10-6(3.25)ELIMINATOR SMOOTH (10.3"OD)
4.80/4.00-8(2.50)ELIMINATOR RIB(16"0D)

Carefree/Flat-Free Wheels

MwW408DC3UHDBK BB 480-8 BLK HD RIB FLATFREE ASSEMBLY 1,000Ib 3"HL/BB (15"0D)
MwW408DC4UHDBK BB 480-8 BLK HD RIB FLATFREE ASSEMBLY 1,000Ib 4"HL/BB (15"0D)

BC10PNFSW3P L34

FOAM INSERT)10"PNEUMATIC 3PC WHEEL 4"CTR HUB

MW408DC6UBK BB 400-8 BLK RIB CAREFREE ASSEMBLY 5001b 6" HL/BB (15.5")
Foam Insert/Pneumatic Wheels

Part Number Description
BC8PNF (FOAM INSERT)8" PNEUMATIC WHEEL 2.5"CTR HUB 300Ib
BC8PNF L (FOAM INSERT)8" PNEUMATIC WHEEL 1/2"BUSHx3.25"CTR HUB 300Ib
BC8PNF OFF (FOAM INSERT)8" PNEUMATIC WHEEL(250/4) 2-1/8"OFFSET 5/8"BB
BC10PNFSW3P (

(

(

BC10PNFSW3P OFF

)
)
FOAM INSERT)10"PNEUMATIC 3PC WHEEL 1-7/8"CTR HUB
)
)

FOAM INSERT)10"PNEUMATIC 3PC WHEEL 2-5/16"OFFSET HUB

www.specialtytire.ca

-28 -



Semi-Pneumatic Wheels

Light Duty Plastic Center |

Part Number Description
MW615P OF 6 x 150" DIAMOND/PLASTIC WHEEL 1/2' Bore x 1-3/8" OFFSET 501Ib
MW715P OF 7 x150" DIAMOND/PLASTIC WHEEL 1/2' Bore x 1-3/8" OFFSET 55Ib
MwW875P OF 8 x1.75" DIAMOND/PLASTIC WHEEL 1/2" BORE OFFSET 60Ilb (TORO)
MW110P 10 x1.75" RIB/PLASTIC WHEEL 1/2" Bore x2" Centered 80lb
Light Duty Steel Center
MW104 5x1.25" RIB/WHITE WHEEL 1/2"BB x 1-3/4"Centered 30Ib
MW104 OF 5x1.25" RIB/WHITE WHEEL 1/2"BB x 1-3/8" OFFSET 30Ib
MW615 R 6 x 150" RIB/WHITE WHEEL 1/2" BB x 1-3/4"Centered 50Ib
MW615 OF R 6 x 150" RIB/WHITE WHEEL 1/2" BB x 1-3/8" OFFSET 50Ib
MW715 R 7 x 150" RIB/WHITE WHEEL 1/2" BB x2"Centerd 55Ib
MW715 OF R 7 x1.50" RIB/WHITE WHEEL 1/2" BB x 1-3/8" OFFSET 55Ib
MW875 R 8 x1.75" RIB/WHITE WHEEL 1/2" BB x2" Centerd 60Ib
MW875 OF R 8 x1.75" RIB/WHITE WHEEL 1/2" BB x 1-3/8" OFFSET 60lb
MW110 10 x1.75" RIB/WHITE WHEEL 1/2" BB x2-1/16" Centered 80Ib
MW110 OF 10 x1.75" RIB/WHITE WHEEL 1/2" BB x 1-1/2" OFFSET 80Ilb
MW113 12 x1.75" RIB/WHITE WHEEL 1/2" BB x2-1/4" Centered 90Ib

Heavy Duty Steel Center

MWZP61 HD B
MWZP61HD BB OF
MW875 568 HD
MwW875 58 OF HD
MW110 68 HD
MW110 58 OF HD
MWZP11025 201
MWZP11025 3CA1
MW113 68 HD
MWZP121HD 3CA1
MWZP121HD 3C4
MW114 34 HD
MWZP161HD 44

6 x2" SOLID RIB WHITE WHEEL 3/4"BUSHING x 2-1/2"Centered 200Ib
6 x2" SOLID RIB/WHITE WHEEL 3/4" BB x1.75" OFFSET 200lb

8 x1.75" HD RIB/WHITE WHEEL 5/8" BB x2"Centered 110lb

8 x1.75" HD RIB/WHITE WHEEL 5/8" BB x 1-3/8" OFFSET 110lb

10 x1.75" HD RIB/WHITE WHEEL 5/8" BB x2-1/16" Centered 150Ib
10 x1.75" HD RIB/WHITE WHEEL 5/8" BB x 1-1/2" OFFSET 150lb
10 x2.75" HD RIB/SILVER WHEEL 3/4" BB x2-1/4" OFFSET 2501b
10 x2.75" HD RIB/SILVER WHEEL 3/4" BB x3" Centered 250lb

12 x1.75" HD RIB/WHITE WHEEL 5/8" BB x2-1/4" Centered 1501b
12 x3" HD RIB/SILVER WHEEL 3/4" BB x3" Centered 350Ib

12 x3" HD RUBBER/STEEL 1"BUSHING x3" Centered 3501b

14 x1.75" HD RIB/WHITE WHEEL 3/4" BB x2-1/4" Centered 150lb
16 x4" HD RIB/WHITE WHEEL 1"BORE x4"Centered 625Ib

Spoked Center

MWSP 12R 12BB

MWSPP 12HD 58BB
MWSPP 20HD 58BB

12 x1.75" RIB/SPOKED WHEEL 1/2" BB 90Ib
12 x1.75" RIB/PLASTIC SPOKE WHEEL 5/8" BB 175Ib
20 x1.75" DIAMOND/PLASTIC SPOKE WHEEL 5/8" BB 200lb

Plastic Deck Wheels

MWPL320 NR
MWPL320 NR EC
MWPL440
MWPL5275 CTR
MWPL5275 OF
MWPL530 JD

3 x2" PLASTIC NESTING ROLLER 1/2" PLN BORE

3 x1"END CAP 1/2" PLN BORE FOR Use With PL320-NR

4 x4" PLASTIC SPOKED WHEEL 5/8" PLN BORE

5 x2.75" ROUNDED-PLASTIC WHEEL 3-5/16"CENTERED x 1/2"HUB
5x2.75" ROUNDED-PLASTIC WHEEL 2.5" OFFSET 5/8"PLAIN BORE
5 x3" ROUNDED-PLASTIC WHEEL 2-1/2"OFFSET 1/2'PLAIN BORE

Shoulder Bolts

MWAB 5 Axle Bolt <1-3/8"SHOULDER> 1/2 x 3/8" Threaded
MWAB 6 Axle Bolt <1-7/16"SHOULDER> 1/2 x 3/8" Threaded
MWAB 7 Axle Bolt <1-1/2"SHOULDER> 1/2 x 3/8" Threaded

-29- www.specialtytire.ca




Bearings & Bushings

| Grafoil Bushings

Part Number Description
MWTB 58 5/8 x1-1/8" GRAFOIL BUSHING
MWTB 34 3/4 x1-1/8" GRAFOIL BUSHING
MWIB 12 1/2 x1-3/8" GRAFOIL BUSHING
MWIB 58 5/8 x1-3/8" GRAFOIL BUSHING
MWIB 34 3/4 x1-3/8" GRAFOIL BUSHING
MWIB 78 7/8 x1-3/8" GRAFOIL BUSHING WI/FLAT SIDE
MWIB 1 1 x1-3/8" OIL LITE BUSHING (3/4"LONG)

| Delrin Bearings
BCDF38118 3/8" x1-1/8" FLANGED DELRIN BEARING
BCDF12118 1/2" x1-1/8" FLANGED DELRIN BEARING
BCDF58118 5/8" x1-1/8" FLANGED DELRIN BEARING
BCDF12138 1/2" x 1-3/8" FLANGED DELRIN BEARING
BCDF58138 5/8" x 1-3/8" FLANGED DELRIN BEARING
BCDF34138 3/4" x 1-3/8" FLANGED DELRIN BEARING
BCDF10138 1" x 1-3/8" FLANGED DELRIN BEARING

Flanged Ball Bearings
MWTBB 38 3/8 x1-1/8" FLANGED BALL BEARING
MWTBB 76 7/16 x1-1/8" FLANGED BALL BEARING
MWTBB 12 1/2 x1-1/8" FLANGED BALL BEARING
BCBB12138 1/2 x1-3/8" FLANGED BALL BEARING
BCBB58138 5/8 x1-3/8" FLANGED BALL BEARING
BCBB34138 3/4 x1-3/8" FLANGED BALL BEARING
Flanged Precision Bearings

BCPBF12138 1/2" x 1-3/8" FLANGED PRECISION BEARING
BCPBF58138 5/8" x 1-3/8" FLANGED PRECISION BEARING
BCPBF34138 3/4" x 1-3/8" FLANGED PRECISION BEARING

| Flanged Roller Bearings
BCRF58138 5/8" x 1-3/8" 1pc FLANGED ROLLER BEARING & SLEEVE
BCRF34138 3/4" x 1-3/8" 1pc FLANGED ROLLER BEARING & SLEEVE

| Roller Bearings
BCRB58138100 5/8" x1-3/8 x 1" ROLLER BEARING (96216NA)
BCRB58138225 5/8" x1-3/8" x2.25" ROLLER BEARING (96236NA)
BCRB58138325 5/8" x 1-3/8" x3.25" ROLLER BEARING (96252NA)
BCRB34138100 3/4" x1-3/8" x 1" ROLLER BEARING (95316NA)
BCRB34138150 3/4" x1-3/8" x 1-1/2" ROLLER BEARING (95324NA)
BCRB34138225 3/4" x1-3/8" x2.25" ROLLER BEARING (95336NA)
BCRB34138250 3/4" x1-3/8" x2.5" ROLLER BEARING (95340NA)
BCRB34138275 3/4" x1-3/8" x2.75" ROLLER BEARING (95344NA)
BCRB34138325 3/4" x1-3/8" x3.25" ROLLER BEARING (95352NA)
BCRB78138250 718" x1-3/8" x2-1/2" ROLLER BEARING (94440NA)
BCRB10138100 1" x1-3/8" x 1" ROLLER BEARING (93516NA)
BCRB10138150 1" x1-3/8" x 1.5" ROLLER BEARING (93524NA)
BCRB10138134 1" x1-3/8"x1.75" ROLLER BEARING (93528NA)
BCRB10138225 1" x1-3/8" x2.25" ROLLER BEARING (93536NA)
BCRB10138250 1" x1-3/8" x2.5" ROLLER BEARING (93540NA)
BCRB10138325 1" x1-3/8" x3.25" ROLLER BEARING (93552NA)

<<< RETAINERS MUST BE USED WITH ABOVE ROLLER BEARINGS >>>

MWRT 5814 5/8" x 1-3/8" RETAINER BUSHING/ 1/4" PRESS
MWRT 3414 3/4" x1-3/8" RETAINER BUSHING/ 1/4"PRESS
MWRT 114 1" x1-3/8" RETAINER BUSHING/ 1/4"PRESS

NOTE: Bearings to fit most Pneumatic & Semi-Pneumatic assemblies, with 1, 2 or
3 piece wheels.

www.specialtytire.ca

-30-



SECTION FAGE |CONTENTS
- ITP - Plain, Modular, Delta, T-% Aluminium, -7, 553106, S53108,
ATV Wheels 1-4 |-1TP - 85112 55212, 55312, Spacer Kiis
- Molorsport Alloys - MENuke, M7 Trooper, MS/Patiod, M10/Reaper, M12/Diesel
- TP - Caps & Muls
ATV Tracks 5 [CCAMOPLAST - Talou 45 Tracks
. - CARLISLE - Trail Wolf Sport - ITP - Holeshot, Mudlite AT & SP
ATV Sport Tires B | TKENDA - Front Max - MAXNS - Razr Sport
7 - KEEMNDA - Bear Clany, Execulioner
- CARHLISLE - Mud Woll - EFX - Molo Max
ATV Utility Tires 8 - ITP - Mudlile XL & 3L, 580M/S - MAXXS - Mud Bug
& - CARLISLE - Black FHock - MAKES - Alla, Mudzilla
10 - HIGHLIFTER - Qutlaw - GORLLA - Silerback - EFX - Moto Monsier
11 - EFX - Moto 350
UTV FATV Tires - ITP - Ukracmss, Holeshot SXS, Bajacross, Temacross BT
12 - EFX - Moto MTC - ITP - Mudlite XTR - CARLISLE - AT489
13 - CARLISLE - Fast Trax, All Trail, Trail Wolf, HD Field Trax
ATV Tires 14 - [TP - Tundracross - KENDA - Scorpion
= GARLISLE - Knobby, Tuf Tamer, Stryker
= KENMD& = Multi-Rib, Hola=N-1, Pro Tour - EFX - Pro-Ridar
Golf Cart Tires & 5 I TCARLISLE - Turf Giide, Links, Fainway Pro
Wheels 16 |- FAIRWAY ALLOYS - Driver, Hazard, Marshall, Aggressor & Renegade
17 - KEMD& - Turl Rider, Turd Max, Turl Boss, Super Turl
- CARLISLE - Turl Male
18 - CARLISLE - Turl Saver, Turl CTH, Wllra Trac
Turf Tires 19 - CARLISLE - Multi Trac C/S, Turf Master
20 - CARLISELE - Turf Trac RfS, Smaooth
21 - KEMDA& - Straight Rib, Slick, Grey Rubber
- CARLISLE - Multi-Rib, Straight Rib
. - KENDA - Siud, Sawtooth
Slow Speed Tires | 22 "0 RisTF . Siud, Sawtooth, % Trac, Snow Hog
. 23 - MARTIM WHEEL - 2pc Rims & Hubs, Go-Kart Parls
Slow Speed Rims |17\ A RTI WHEEL - 1 pc Integral Hub Rims, 2pc Integral Hub Rims
25 Lawn & Garden
Tubes 26 Trailer, Industrial, Agriculiural, ATV
Tire Chains 27 Lawm & Garden, ATV
Pneumatics 28 Freumatic Wheels, Pneumatic Casters, Flal Proof Wheoks
Semi-Pneumatics 29 - MARTIN WHEEL - Semi-Pneumatic Wheels
Parts 40 Bearngs, Bushings, Bolts For Slow Speed Wheels

Winnipeg

B8O Cantury 5t
Winnipag, ME,
Carads, RIH 045
Tid: [204) TEF-5497

=i

Surrey Edmonton
421 53rd Ave 112 - 13030 76 Ave. #3-9743 - 51 Ave
Calgary, AB, Surey, BC, Edmonton, AL,
Conada, T2H 15 Canada, VW Ive Cansda, THE 4WE
Tel: (403) 252-3055 F Tal: (T80) 432-5575
Fax: (403) 267-3503 Fax: (THO) 432-56780
folf Frae: J00-681-6600 Toll Free: S00-6681-6600




